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[ NATIONALISED BANKS & IBPS PO/MT/SO EXAMS

Directions {1-5) : Belowis ghena
passage followed by several possible
inferences which can be drawn from
the facts stated in the passage. You
have to examine each inference sepa-
rately in the context of the passage
and decide upon its degree of truth
or falsity.

(Camara Bank PO Exam. 09.02.2003)

Mark angwer (1) if the inference
is “definitely true’, i.e. it properly fol-
lows from the statement of facts given.

Mark answer (2) if the inference
is “probably true’ though not ‘definitely
true’ in the light of the facts given.

Mark answer (3) if the ‘data are
inadequate’. i.e. from the facts given
you cannot say whether the inference
is likely to be true or false.

Mark answer (4} if the inference
is ‘probably false’, though not ‘defi-
nitely false’ in the light of the facts
given and

Mark answer (5} if the inference
is ‘definitely false’, i.e. it cannot pos-
sibly be drawn from the facts given
or it contradicts the given facts.

One of the promising features of
the current market is that domestic
institutions seem to have turned buy-
ers after a very long time. They have
been net buyers this month with in-
flows exceeding by Rs. 80 crore till

early this month. That's admittedly a
small amount, but its significance lies
in the fact that domestic institutions
have been net sellers every month this

into equity.
1. Domestic Institutions have been

consistently selling only it all the
manths in this financial year.

2. Flis bought more than what was
sold wm institutions this
financial year.

3. The equity market Is expected to
experience a subdued activity in
near future.

4. The activities in equity market
has direct relationship with the
debt market.

5. it is expected that in the early
next financial year the gap be-
tween the net sales and net pur-
chases will reduce substantially.

Directions (6-10) : Below is given

a passage followed by several possible

inferences which can be drawn from

the facts stated in the passage. You

have to examine each inference sepa-

rately in the context of the passage

and decide upon its degree of truth of
falsity.

(Syndicate Bank Po

Exam. 10.10.2004)

Mark answer (1} if the inference
is *definitely true’, L.e. it properly fol-
lows from the statement of facts given.

Mark answer (2) if the inference
is ‘probably’ true' though not ‘definitely
true’ in the light of the facts given.

Mark answer (3) if the ‘data are
inadequate’, Le. from the facts given
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ct on the lives ON
pam. such as those ::;ﬂflion& Sop,
affected directly because m %
yleld: others are affecteq i,
the economic growth slowy d -’
Stmilarly, the years with go o
soon bring smiles anqg Prospe Men,
the lives of many. For lnstaneem’
recorded a sharp jump I iy,
growth after years of perfo fe
the recent years. This ung, '
cycle affects the lives of Millign,
poor and hapless. But it neeg not
this way. lnmejargorxofﬁnanuﬂ
normics, monsoon risk is 3 d; '
risk. In other words, it i3 a5 Insy,
ance risk. Though one might wop, -
who will provide the insurance
poor moons if everyone is agy
affected by poor monsoon ? The an/
swer is-the international inyeg a

6. .1"&11\t:i\rerthewc:rldcliv.rers;ma}J ,
risks are always covereq hyu:: '
insurance companies, '

7. Scanty monsoon adversely o
fects the lives of only the
people in India.

8. There has been considerabls
growth in India’s economy dy;.!
ing the recent years. |

9. Monsoons in India have bew!
good only in the alternate years |
during the past few years.

10. Majority of the people cutsideln
dia are not affected by the por
monsoon in India.

Directions (11-15) : In each ques-
tion below one statement is followed

financial year except in September | YOu cannot say whether the inference
:;hen their net purchases amounted | Is likely to be true or false, z:: : lca;::‘dii?;s wv:ﬂh;;hc:;e bio m
a microscopic Rs. 28 crore. This Mark answer (4) if the inf;
financial year’s net sales by domestic | is ‘probably false’, though mf'-flnegf from either the statement given ntt |
crore, whiy counted to Rs. 2964 | nitely false’ i the light of the fag, | Q€HON OF from the statement gves
crore, which has substantially offset given, 4¢3 | in the question and an additional stat*
the net inflows of Rs. 3187 crore by Mark (5) if ment which may it in the blank spac®
FlIs. The net purchases by domestic is ‘defing aa 'f alseI o (5) f the inference | y,, have to study the question asd
institutions could indicate that money | oih1 be tdely » 1.¢. it cannot pos- the alternatives which providea statt
s once again into equity funds, | 1 = Tawn ffom the facts given | ment and decide whic of the S#
€ager not to miss the widely expected orlt contradicts the glven facts, ments best fit between the given stat®
";".V- Part of this reason could be g It is generally accepted that if the ment and the conclusion.
13! ift in investor POMOHDB, as people monsoon is Ppoor in any glvcn year, it (Union Bank of mdhm
ghten up on debt ang put that money | Will have a significantly negative im- Exam, 27.11.3009
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18 ap tng 12. Statement L : The prices of | ment.

Might g, . cars will Increase substanttally | . () Statemeng . : Planningis most
Uranee pear future. fmportant aspect tn handling any un-
€is ad‘a.ggl » plank SPACE © .eooriierinnan, . foreseen situation,
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o e erately high scorers. Directions (16-20) : Below is given

o’ tatement II. : There are mixed a passage followed by several possible
1 ioodons from different groups of stu- | ynferences which can be drawn from
tate: tsand parents, the facts stated in the passage. You
ate- (B) Statement I1. : This was nec- | have to examine each inference sepa-
tate- 8ince our examination system | rately in the context of the passage

PUsalot of pressure on students. | and decide upon its degree of truth
PO (C) 8tq . or falsity. :
08 foﬂozmt 1. ; Thl: tll)'lr a;:tlce Is (Union Bank of India Po
s Y 80me of the foreign Exam. 27.11,3008)
=
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wer (1) if the inference
18 Ef:::nl”t‘:ly tx(ue)" Le. It propefz
follows from the statement of fac
glven. ce

Mark answer (2) If the lnfel;et;ﬂ

13 “probably true” though not “d e
nitely true” in the light of the fac

1.

& Mark answer {3) ! the “data are
inadequate” I.¢, from the facts given
you cannot say whether the inference
is likely to be true or false.

Mark answer (4} If tl;le; lnf:{gt;ﬁe

“probably false” though no -
:fltcl;;o fa!se'?m the light of the facts

1.
gw:hrk answer (8) If the inference
is “definitely false” i.e. it cannot pos-
sibly be drawn from the facts given
or it contradicts the given facts.

The opportunity spectrum available
for Indian banks is wide today as never
before. The economy is on a sound
platform. GDP 1s growing at about
seven per cent to eight per cent even
if there is a failure in monsoon. There
are policy measures which are being
addressed especially on the infrastruc-
ture area, including airport infrastruc-
ture. The rural economy holds a huge
untapped potential, which the banks
can exploit. While the economy is be-
ing driven by fundamentals, the ser-
vices momentum is growing very
strong, with services constituting 56
per cent of the economy, as opposed
to a very small percentage a few years
back. Clearly services have been the
key driver in economic momentum of
the country. The industrial sector,
which underwent a phase of restruc-
turing, is showing a consisted growth
rate around ten per cent. Also there
are significant changes taking place
in the demographic profile of the coun-
try. Seventy per cent of the Indians
are less than 35 years of age, which
makes India as one of the youngest
countries in the world,

16. Services sector has not grovn

with the same pace as that of the in-
dustrial sector.

17. India has progressed consid-
erably better in creating infrastructure
in comparison with other countries in
Aslan continent.

18. India’s GDP growth does not

depend on amount of rainfall during
monsoon,

18. Industrial sector has grownm

by about hundred per cent in the last
stven years,




The Indfan sugar industry, the sec-
ond largest in the world after Brazl,
has traditionally been fragmented,

sibly be drawn from the facts given
or its contradicts the given facts.

inadequate’ {.e. from the facts given
you cannot say whether the inference

{ CONCLUSIONS/INFERENCES | —~—
£ o
bankrupt sugar mills 28. Indian power generation ig . v
est gixﬁﬂgﬁgn:hf?:nﬁ . mo?:loc{lt:eare fi unpd:d by the ly controlled by private sectq,, ﬁ&‘ﬁg‘
years, Government to revive thefr units. | 27. Reforms In power sector i . ,191
Directions (21-25) : Below Is | 28, The Indian sugar industry has d':egal's “;’t yet attained g g, ;;e% o
given a passage followed by several comparatively smaller units in | evel. ‘J‘t"
possible inferences which can be compariscn to other major sugar | 28, Indian power sector is yetto gy, F;p f
drawn form the facts stated in the pas- producing natlons. tain status comparable to deyy. g
sage. You have to examine each infer- : Below Is oped countries. 10@‘
Directions (26-30) ¥ b
ence separately in the context of the sage followed by several | 28. Power theft is one of the Mayor ',rrl f
passage and decide upon its degree gi::;biep?:f:ﬁmc es which can be components of revenue losseg d‘lc:fi
of truth or falsity, drawn from the facts stated in the pas- power sector. o
(Corporation Bank PO nfer- [ 80 tetechnical and commer., g%
E 09.07.2008) | 5age. You have to examine each infer . Aggrega - o’
o O ence separately in the context of the cial loss is much less than thiy
Mark answer (1} if inference d its degree per cent of the total power gen. bﬁ””
i *definitely true’, 1.¢. it properly fol- | Passage and decide upon g eration. ot i
lows from the statement of facts given. | of truth or falsity. PO 31-35) : Bel ¥
Mark answer (2} If the inference (Bank Of Maharashtra Directions ( : Below g Wme’
ls.pmbabb’h'ue' mough notodeﬂmtely, Exam. 25.0503008) glven a passage followed by scveral ‘;\t 1e
true’ in the light of the facts given. Mark answer (1) If inference Is | possible inferences which can be L
Mark answer (3) if the ‘data are | ‘definitely true’, L.e., it properly follows | grawn from the facts stated in the pas- ¢ g
Inadequate’, i.e. from the facts given | from the statement of facts given. sage. You have to examine each infer. ]
you cannot say whether the inference Mark answer (2) if the inference | ence separately in the context of the ¢ !
Is likely to be true or false. Is “probably true’ though not ‘definite- | passage and decide upon its degres .
Mark answer (4} if the inference | ly true’ in the light of the facts given. | of truth or falsity. !
Is ‘probably false', though not 'defi- Mark anewer (3) If the 'data are (Indian Overseas Bank PQ 1
nitely false’ in the light of the facts inadequate’, 1.e., from the facts given . Exam. 18.08.2008) | %
given. you cannot say whether the inference Mark answer (1) if inference (s !
Mark answer (8) if the inference | s likely to be true or false. ‘definitely true’ i.e. it properly follows |
is 'definitely false’, i.e. it cannot pos- Mark answer (4) If the inference | from the statement of facts given, ;
sibly be drawn from the facts given is ‘probably false’, though not ‘definite- Mark answer (2) if the Inference |
or it contradicts the given facts, ly false’ in the llght of the facts glven. is 'probably true’ though not ‘deﬁnltely {
In the commodities business size Mark answer (8) if the inference | true’ in the light of the facts given, .
does matter. This is common wisdom. is ‘definitely false’, 1.¢., it cannot pos- Mark answer (3) If the data sre : a
I_
i

which led to widespread sickness and
large number of mills going bankrupt,
a situation exacerbated by a slew of
government controls - which are,
meaningfully, getting diluted since
August 1898, Its now been more than
seven and half years since the indus-
try was delicensed. No official per-
mission I8 required either to build a
new factory or for brown field expan-
slon plan, except that there must not
be any violation of command area
norms. Even then, there aren't many
who have the capacity to play the vol-
umes game at the cyclic sugar busi-
ness.

21, India has not yet been able to
consolidate its firm stand in the
International sugar market.

22. At present the Indian sugar in-
dustry has been made consid-
erably free from Government
controls,

23. Prior to 1998, Indtan sugar
industry was considerably lower

in the world ranking of large
nations,

The latest data to show that the
overall power situation has gotten
worse, with the ratio for peak-load
shortages now the highest in a decade,
In absolute terms, the power deficit
has hit record levels and seems al-
most certain to further deteriorate
without real reforms on the ground.
Even as aggresstve technical and com-
mercial losses in the power system
remain much high at over a third of
total generation, pan-India capacity
addition is now well below target. A
shortage of equipment and skills is
blamed for the marked slow down in
augmenting power capacity. But the
dearth of resources can only be rela-
tive. In fact, the real bane of the sec-
tor is continuing revenue leakage in
the state power utilities and unaccept-
ably high aggregate technical and com-
merclal losses, much of it plain theft
of electricity. Given the preponder-
ance of state utilities in power sup-
ply, the fact that they remain very
much in red does affect investor com-

fort and return funds flow.

Is likely to be true or false,

Mark answer (4) if the inference
is ‘probably false * though not ‘defi-
nitely false’ in the light of the facts
given.

Mark answer (8) if the inferences
is *definitely false’ i.e. it cannot possl-
bly be drawn from the facts given oc
it contradicts the given facts.

A fundamental global trend nowa-
days is the growing natural resources
scarcity. Oil and natural gas prices
have roared In recent years . This
year, food prices have also skyrock-
eted, causing hardships among the
poor and large shifts in income be-
tween countries and between rural
and urban areas. The most basic rea-
son for the rise in natural resource
prices is strong growth, especially in
China and India, which is hitting
against the physical limits of land, tim-
ber , oll and gas reserves and water
supplies. Thus, wherever natures
goods and services are traded in mar-
kets (as with energy and food), price®
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. - lopment of lan,
to examin ch inference Directions (51-85) : Below is giv 8%. Develop d
You have e ea e en a passage followed by several pos- slums in citles of ln(:ioi:“‘;"ﬂ:dt,

separately in the context of the pas-
sage andb'dccldc upon {ts degre?:a:f sible references which can be drawn ha::l any effect on th, oy,
truth or falsity. from the facts stated in the passage. public. "‘%.,
You have to examine each inference Directions {86-80) ; .
&

nited Bank Of India PO 3
it em. 21.08.2009) | separately in the context of the pas- | en a passage followed bl'seve .
e and decide upon its degree of | sible inferences which Canb:alh&

Mark answer (1) if the inference | 528
is ‘defini e fol- | truth or falsity. from the facts stated in g,
tely true!, i¢. it properly {Corporation Bank PO | v\, have to examine eacheiﬁ?:aag(

lows from the statement of facts given.
Mark answer (2} if the inference Exam. 22.11.2006) separately in the context of th, Tengy
Is ‘probably true' though not ‘definite- Mark answer (1} if the Inference | gage and decide upon itg g, P2
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' you gnofsayfvh?tilnc:' &ialfltfse;mme; Mark m“'.(z) if the inf?reg- Mark answer (1) if the ::}-3011\,
’ is likely to be true or false. ce is 'probfl]ll:;l{h tnlli;htfgf“g; g‘::tt;’;w: is ‘definitely true’, Le. it pp,
o Mu;mwirhgﬂéf]metjzf:&eunee :li]tely true € g‘l(lows from the statemeny of p[:::
‘probably false’, not te- ' . en.
Mark er (3) if the ‘data are
answet (3) Mark answer (2) if the i

ly false’ in the light of the facts given.
*, iL.e. from the facts given
Mark answer (8} if the inference ;"ozdgg;';;:sa;whem e e | 15 ‘probably true’ though n e
is ‘definitely false’, i.e. it cannot pos- is likely to be true or false. ly true’ in the light of the facig
Mark answer (3) if the ‘daty

sibly be drawn from the facts given Mark answer (4) if the inference

orit contradicts the givcn facts. is 'pmbabl}' mlseo' thollgh not ‘definite- lﬂadequate'. {.e. &Om the facta glv

, dianaemn 2002-03 and 2006-2;; ly false’ in the light of the facts given. | you cannot say whether the infe a

10 by U e st o4 O et | ek anewee ) e free | o kel Lo be i or .

4 , per | 4s delinitely false’, i.e. it cannot possi- Mark answer (4) if

year. In 1990, India’s share of servic- the inferery,

es, at 40% of GDP was consistent with bly be drazwn from the lt'-acts given or | g ‘probably false’, though not*

its per capita income for low-income it conltra:tc:cts tl:e & Vf::o ac:)si;l " ly false’ in the light of the facts iven, h
I most amb us everio Mark answer (5] ifth e !nrm

country. By 2001, its share of one- house 6-crore slum dwellers and rea.

half of the GDP was higher by five " [ is definitely false’, i.e.

percentage points, con 1pafed tobt!):e av- | lise the vision of stum-f. »e India, the bly be dra{vn f?'?m-: fh{iet ::::“t:(’t Posy:

erage for low-income countries. Eco- | §overnment is rolling out a massive | . contradicts the given fact gvenc

nomic reforms that energised the pri- | P1an to build 50 lakh dwellir:g units to all acts.

vate corporate sector, and technolog- | {IV€ Years across 400 towns and cit- Quality of higher education i
ies. The program could frec up thou- | Merging as a hugely profitable hug.

fcal changes that opened up new vis-
tas in telecommunications, IT and out- | 92nds of acres of valuable government | Dess opportunity. A range of priva
sourcing are believed to be responsi- | 1and across the country and generate | enterprises to fly-by-night operaton,
ble for the impressive performance, | Crores worth of business for real es- | are making a beeline for the sector I
However, the services led growth re- | {at€ developers. Proliferation v+ slums | is neither feasible nor desirable fur
mains a puzzle at a low per capita in- has had an adverse impact on the GDP | the state to stem this tide. Rather, te
come, with 55% of the work force still | ErOWth for years. Slum dwellers are | state’s role should be to modulate s
engaged in agriculture, and when ag- | Characterised by low produclivity and | enthusiasm to maximize social wellare
riculture decelerated and industry | SUSceptible to poor health conditions. | The first ste
The gov p should be to dump the
stagnated-defying a styled fact in eco. government believes that better fairy tale that ed el
housing facilities will address social” o o€ that education is a sac
mission and cannot be permitted b

noinics.
46. India has now emerged as a hi Issues and also have a multiplier ef-
per capita income crgi(:l try. gh {ect and serve as an economic stimu- ggl?;?;ﬁsj ;:n ;‘: (t:lo mpanies tﬁ’ﬁ
47. Growth in India’s services sec- o “ bu siitutions as wel
inesses that have transparent
et | Lt s Hovne S | i i i
48. Lessth ceptable norm of human habi un er
an half o total work force In Indian cities and towns, tat :{‘_' “Ott;;\ case for the state to withdf::
om the sector. Rather, the statem

Is engaged in agricultural sector
82. Citles and towns of developed deepen its Involvement and give t?

in India.
49. Share of services sector in In- countries are free from slums,
dia’s GDP has crossed the half | O PeF CaPita income of shum dwell. | Cicrcnt shape. e
way mark in early 2000, ¢rs Is significantly lower than | 96 The Government has enotlﬁ"ﬂ!
50. In early ninettes, the shar those living in better housing sources to run all the educa
services sector in GDp for io?vf facilittes. institutions. o
Per capita income group of coup- B4. Majority of the slums in cittesand | 57 All educational lnst.itutlﬁ“;vide
tries is about 40 per cent. ‘t’g‘t"m in Ir:%la are on prime pr{- by private companies P
¢ properties, guality education.
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‘:}?Jb, ) inu‘guon sector will benefit the 6. gﬁn"g:l tmines of the developed
Iy, ty at large. ©8 generate more profits
Q) : Bq% nlnq Wd; pusiness houses have en- those in India.
b}'ae‘r 'G ﬂ, h:fancd educatlon sector to earn €88ment process of coal re-
oo ry :;gibﬂftym the market. SEtVes Is not capable of identi-
:1 the € g Pua . nt should restrict fying coal reserves accurately.
-Ack ‘p r%“ & 1‘1‘1‘” of private companies into | ©4- India's dependence on coal for
Xt ¢, fp, en cation sector. Eenerating ene,
f er,% L € energy will continue
ftg the B pisoctions (61-65) : Below i In the time to come.
&Ee‘! a passage foléomcll)ly several |  88. India's coal reserves are much
o ﬁ ble I s stated In the par Doy, 1 its requirement.
30 from - examine each pas: (68-70) : Below is giv-
th 2 haveto infer- | eng
e 1 . You the con Passage followed by several
Nfe, 9 [ s parately in text of the | sible inf; pos-
it Dre'eq% ot 5 d decide upon its degree | €rences which can be drawn
'el'lt Oper" Pﬁ’age 3‘}318'“’" rom thc facts stated in the passagc.
of fay, ! gftruth O a You have to examine each Inference
@aok Of India Banking Officer Separate
he g, ! Exam. 24.01.2010) ly in the context of the pas-
10t el'e% | answer (1) if the inference ﬁ&aﬂd decide upon its degree of
fact T, | gefinitely t5UE", L. 1t properly fol- or falsity.
e da% - B omthe statement of facts given, | (04120 Bank PO Exam. 17.10.2010)
facg ag, lows park answer (2) if the inference ., Mark answer (1) if the inference
e inf ey true’ though not ‘defi- :s definitely true, i.e. it properly fol-
- er&'lq zw true’ in the light of the facts ec:lwa from the statement of facts giv-
:t' Creny lllfk answer (3) If the ‘data are Mark answer (2) if the inference
clg D adequate’, L. from the facts given | is ‘probably true’ though not ‘definite-
Elvey ucannot say whether the inference | 1y true' in the light of the facts given.
li"fel‘ene, Js ikely to be true or false. Mark answer (3) if the ‘data are
Ot pogy; Mark answer (4) if the inference | inadequate’, i.e., from the facts given
Elveny  ; probably false’, though not “defi- | you cannot say whether the inference
) sitely false’ in the light of the facts | is likely to be true or false.
ation j, . Mark answer (4) if the inference
le bug; Mark answer (8) if the inference | is‘probably false’, though not ‘definite-
Privay  is fal-;o i-ei l'jxt cgilot POs- | ]y false’ in the light of the facts given.
"ratoy,  sbly betfﬁ:gls th:l give; ;.; . t?; given Mark answer (5) if the inference
2ctor, )y oritcon th : is ‘definitely false’, .e., it cannot pos-
ble for Coal and power mt ecmﬁn- sibly be drawn from the facts given
er,thy  slaysofIndia’s energy sector. Coalis [ oyt 005 iradicts the given facts.
telly  thecountry’s backbone of energy sup- Privatisation is h
d is likely to continue playing a atisation I8 no panacea when
elar.  Pyan it comes to education. Nor can high-
1p the significant role in meeting energy de- .
pored mands. It accounts for over 50 per cost intervention at the tertiary stage
edp  Cntofthecommercial energy require- produce quality talent. The backbone
oon  Tentsinthe country. Despite reported of quality education is primary school-
o [Gures of a relatively large coal re- | ing. And improving that s not just a
; source compared with other fossil fu- | question of funding. The government
lhao ¢ls, the country has been facing short- | has taken some steps to improve the
ug agesfrom time to time. Projections for | situation by Increasing the percent-
o Zbyvarious study groups showan | age of allocation in the budget. But it
s gap between the demand | has done precious little to increase the

and supply of domestic coal, which
T2y result in increased imports. More-
Wer, the country's resources are of-

ita

© wverstated as assessment process

4 doesnot consider the quality, techni-
D?I feasibility and economic viability

;“ emal mining and exploration.

;

L India’s coal mines and mining

of private companies into

[ ]
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efficacy of public spending in educa-
tion. For that is a political and admin-
istrative task. Teachers who do not
turn up to teach at rural schools (ab-
senteeism is about 30% according to
one estimate) and teachers who are
not equipped or motivated to teach but
continue in service with challenge are

-activities vi-
able, are commercially

e ——

66. The Indian Government has n::
done enough to improve :m
quality of secondary educatd th

67. Allocating more funds in the
budget for primary education -
substantially improve the gu
ty of education.

68. Quality of education 18 ensured
81 all ttge privately run education-
al institutions in India. suc
Government has been U -

o cessful in achieving the desired
result in education. <choal

. Motiva the primary
™ teachcrt:ang.nd improving atten-
dance of these teachers aré ma-
jor challenges in India.
Directions {71-75) : Below 18 giv-
en a passage followed by geveral pos-
sible inferences which can be drawn
from the facts stated in the passage.

You have to examine each inference

separately in the context of the pas-

sage and decide upon its degree of
truth or falsity.

(Allahabad Bank PO
Exam. 21.02.2010)
Mark answer (1) if the inference
is ‘definitely true’, L.e. it properly fol-
Jows from the statement of facts giv-
en.

Mark answer (2) if the inference
is ‘probably true’ though not ‘definite-
Iy true’ in the light of the facts given.

Mark answer {3) if the ‘data are
inadequate’, i.e. from the facts given
you cannot say whether the inference
is likely to be true or false.

Mark answer (4) if the inference
is ‘probably false’, though not ‘definite-
ly false’ in the light of the facts given.

Mark answer (5) if the inference
is ‘definitely false’, i.e. it cannot pos-
sibly be drawn from the facts given
or it contradicts the given facts.

There has been considerable de-
bate in India regarding the privatisa-
tion of higher education. In this de-
bate, there is generally an implicit as-
sumption that privatisation is essen-
tially the same as corporatisation i.e.
private investment comes due to the
potential of returns. In the higher ed-
ucation field, privatisation and corpo-
ratisation are actually quite different.
Privatisation is regarding who controls
the educational institute and the role
of government in the management and
funding of the institute, while corpo-
ratisation is about making profits. In

part of India’s socio-political reality.

(BPRE-719 }




India, there 15 no doubt that priva

encouraged to increase education ears. Within the region, Indla and
ﬁl Portunities and the fact that thereoz gouth Korea are the third and fourth
" Roother alternative as the government | largest economies after China and Ja-
4 stmply cannot create enough public pan. Though the Aslan growth storles
. universities tg satisfy the demand. mainly revolve around india and
However, guidelines for private not- | China, South Korea has remained a

for-profit universities should be made

g W)

those who might
vate university.
71. Privatisation of higher education
has yet to take proper shape In
India.

BRI *-M_-JL'

73. Expansion of higher education
Opportunities in India ta needed

. to meet the Increasing demand,
;o 73. Corporatisation of higher educa-
tion has benefited the students

in the developed countries,

74. Privatisation of higher education
will lead to co, of
education in India,

78. India does not have any extant
guidelines for setting up higher
educational institutions by pri-

| vate entities,

_ I‘ Directions (76-80) : Below is

not-for-profit Universities need to be

clear, simple and tranaparent to en-
sure that they are truly not for profit
and offer a level playing fleld to al
want to set up a pri-

—| CONCLUSIONS/INFERENCES |

Asila has become the growth cen-
tre of the world economy in recent

te

key player for these countries as one
of their major trading and investment
partners. South Korea adopted out-
ward-oriented economic policies with
the beginning of. its first five year
economic development plan in 1962
which resulted in high growth and the
integration of the Korean economy with
the rest of the world. Subsequently
high and consistent economic growth
made South Korea one of the high-n-
come econontes s Asia. Korea Is still
growing at a faster rate compared to
other developed economies. india on
the other hand, adopted an import
substitution policy since its Indepen-
dence until the early 1990s. Since then
India has introduced wide-ranging
econornic policy reforms and is mov-
ing towards market-driven econony.
This has resulted in conslstent high
economic growth over the last one-and-
a half decade.

78. Only Korean economy is consid-

given a passage foliowed by several ered as robust by the interna-
g possible inferences which can be tional commumity.,
! drawn from the facts stated in the pas- 77. Japan's economic growth over
f 8age. You have to examine each infer- the last decade i3 the highest in
J €nce separately in the context of the Asia.
o passage and decide upon its degree | g, The Korean Is tradition-
-‘ of truth or falsity. ally different than the India
(Corporation Bank Po economy in its approach,
Exam. 00.08.2010) | 79, Tphe economic growth of India
Mark answer (1) if the inference Prior of 1990s was much higher
is ‘definitely true’, t.e, jt properly fol- than the present growth rate,
lows from the statement of factsgiven. | gg, llldlaandChmamﬂleramoon-
Mark answer (2) if the inference aideradthedﬂvingforceomsian
- is ‘probably true' though not ‘definitely economy.
> J true’ tn the light of the facts given Directions (81-85) : Below s
Mark answer (3) if the ‘data are | given a Passage followed by several
inadequate’, 1.¢. from the facts 8lven | possible inferences which can be
Yyou cannot say whether the inference drawnﬁ'mnthefactsstatedmthcpas-
s likely to be true of false, sage. You have to examine €ach infer-
Mark answer (4) if the Inference | ©NCC separately in the context of the
fs ‘probably false’, thought not ‘def1. | Passage and decide upon fts degree
nitely false’ tn the light of the facts | ©F truth or falstty, |
given. {Punjab & 8ind Bank po
Mark angwer (6) if the infe Exam, 16.08.2010)
I8 ‘definitely false* l.eﬂt cannot pmm;:::i= Mark answer (1) 1f the infer-
bly be drawn from the facts given or ::_};ef:) s":;g'z_teb' tt"hue ' t;‘;i PI;OP}
om the s ent o
it contradicts the &iven facts, ‘ facts given, S

Mark answer [2) i the /
ence is ‘probably true ¢ m':"“t .
‘deﬂnltcbrt.rue'lnﬂlcll@tofthc oy

Mark answer (3) if the

inadequate’, i.e;vfl:gt?:rhe l‘acctl:ta e o7
cannot .
yj:‘l:kely to bs:ytrue or falg:? w%“! Y

Mark answer (4) [f the in, i
ence is ‘probably false', thougyy relr. g
defintely false' n the Ught of o
given. *

Mark answer (8) if (1, Infe; v
ence is ‘definitely false’ 1.¢. 1 Canng ;[i
possibly be drawn from the facty

en or it contradicts the givey, C

Investors today have More i:[p

vestment options than were avallapj, o

just a few years ago. Choice i,

decisfon making is good in 80 far

provides variety, differentiation and
benchmarking. It could also, howey. ”

er, at Hmes lead toclutterand"m- .

if the options are mostly similar and @

undifferentiated. To make Sense of
this choice conundrum, it is imperg.
tve for an Investor to define objec.
tive — both returns and digestible
risk and then identify the Possihje

options. The investor also Needs (g

select the mix and regularly monitgy

that objectives and investment out-
comes remain aligned. Sounds slm-

Ple, but can present the most con.

founding situations which multiplies

with the quantum of wealth,

8L. Investment of higher amount j5
relatively simpler than smaller
amounts,

82. Investors need to critically eval.
uate the risk of each Investment
option.

83. Present day investors need to
use their judgement more criti-
cally before investing,

84. Multiple investment options of
similar type helps in bet-
ter investment decisions.

85, In the past, investors were gen-
erally guided by the fund man-
agers,

Directions (86-90) : Belowis giv-
€n a passage followed by several pos-
sible inferences which can be drawn
from the facts stated in the passage.
You to examine each inference
Separately in the context of the pas-
sage and decide upon its degree of
truth or falsity.

i

in
i
di
F
)
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(Bank Of Baroda PO

Exam. 30.08.2010)
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the, = ln gowwer (1) i the inference

tof g &h - ', 1.¢.. 1t properly fol. Directiong
lhg‘-h oy o wet;;-:mt oll?facts g,vg:: N a passage fouml‘sm : Below is giv-
M‘m if the Infi - | =sible Inferenceg owed by severa] pos-
he ag o () he inference | from the facts stwmch be drawn
facty g, v )W;u-ue' though not ‘definite- | You haye 1 ., ated in the passage.

e Iny, &"ql I vﬂ"‘b the light of the facts given, Separately | amine each Inferen

- Teng #R I pewer (3) If the ‘data are [ Sage ang decils COntext of the pas.
- the 1 e e’ -6 from the facts given | truth or 1 alsity e upon its degree of

hough"fer‘ | dcq“’ say whether the inference [ce'n
the}"'lt ‘-wcgﬂl;‘ootbctmcorfalse. tmmo‘hd‘hm
Y "ﬂulf‘” answer (4) if the inference Exam. 25.07.2010)

"I unclal Year 2009, while average

ount iy

maller 4 been just 1.94 crores a month

yeval  ppancial Year 2009. Even peak festi-
stment  rispending through cards in the cur-
wnt fiscal 1s less than the previous

pad fo  year's levels,

enitl- - 8. Credit card usage in the current
year has substantially decreased

nsof  from Financial Year 2009.

ghet: 82, There has been a drop of about
40 percent in use of credit card

ger-  inthe current year from the pre-
pat | viousyear.

- 8 There has been a drop of about
sf* 10 percent in the number of
po*  cedit card transactions in the
2% cument year from the previous

- :mppcdtoabout2croresas of end

" ;;Trag:)lo has fallen to Rs.5,100

Mark
b7tk alse’, though not ‘definite. | IS "definj; el;‘:mr(l) if the inference

Pl

g to the latest data re-
:;d the number of credit cards

2010 from around 2.5 crores

ago. The data also indicate that

e monthly card spends both in
of value as well as volume has
gllaot touched the pre-crisis levels.
menthly spend in Financial

st Rs.5,400 crores in Fi-
thly volumes in the current year

to 2.16 crores a2 month in

rne”

light of the facts given, | lows from the stat ie. it properly fol-

8y Yol false’, 1€ it cannot pos- . Mark angye, 2) If the Ing

¥ drawn from the facts given | 18 Probably trye” tho erence

z a‘,a"abk. M 7 adicts the given facts,

o4 en a8 the economy isbackon

and consumer confidence up, | inadequa

u#* wora-edit cards in the sys- | YOucann

¥ inues to dip. In the last one is likely to be trye or false,
(he total number of credit cards

o pas dipped by almost 50 la-

ement of facts giv-

2 not “d
ly true” in the light olf-'l%ll:e factsegi?ctrel-.

k answer (3) f the data are

te t.e. from the facts given
ot say whether the inference

Mark ang
is “probably false" (tiaﬂoi{lthe Inference
nitely false® in the Ilghtghfl:ﬁt f:eﬂ
given. of the facts
Mark answer (5) if th
is “definitely false”. (13: it cznTlfzﬁnpoge
sibly be drawn from the facts given
or it contradicts the given facts.
Note : Each of the five questions
has only one distinct answer i.e. no
two questions can have the same an-
swer. If you get same answer for more
than one question, consider both again
and decide which one of the two would
more definitely be that answer and
same way review other also.)
The first time I saw The Wizard
of Oz, the story bewitched me. The
second time | saw The Wizard of Oz,
the special effects amazed me. The
third time 1 saw The Wizard of Oz, the
photography dazzled me. Have you
ever seen a movie twice, three times
? You notice subtleties and hear
sounds you completely missed the first
time around.
It's the same on the phone. Be-
cause your business conversations are
more consequential than movies, you
should listen to them two, may be three
times. Often we have no clear idea of
what really happened in our phone
conversation until we hear it again.

You'll find shadings more significant
than the colour of Toto's collar — and

I8 lesser than that in | more scarecrows than you imagined
who ‘*haven't got a brain!

im-
How do you listen to your
rtant business conversations again

Leredit card related fraud. 2 Simply legally and ethically tape

gt Year.
;";: . The drop in usage of credit cards
o In Ingig
‘ hany other countries.
124 People are not using credit cards
1 ¢ current year due to ram-
/

\
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record them. 1 call the lechtl:lque of
recording and analyzing your
conversations for subtletics instant

Re, .
9f.la1!"hemw1e'mew:zardqf0=’“"“
help improve business conver-
sation.

92. For most, if they watch a movie
more than once, different as*
pects in different order. like spe-
cial effects, photography, story.
music etc. would impress in 2
better way.

93. The tips are given for under-
standing business conversation.

94. The advice is being given t0 the
sales team.

95, The author watches most mov=
jes more than twice.

Directions (96-100) : Below is
given a passage followed by scveral
possible inferences which can be
drawn from the facts stated in the pas-
sage. You have to examine each infer-
ence separately in the context of the
passage and decide upon its degree
of truth or falsity.

(Bank Of India PO Exam. 31.10.2010)
Mark answer (1) if the inference

is “definitely true”, i.e., it properly
follows from the statement of facts giv-
€11,

Mark answer (2) if the inference
is “probably truc” though not “defi-
nitely true” in the light of the facts
given.

Mark answer {3) if the data are
inadequate i.e, from the facts given
you cannot say whether the inference
is likely to be true or false .

Mark answer (4) if the inference
is “probably false” though not “defl-
nitely false” in the light of the facts
given,

Mark anawer (8) if the inference
is “definitely falge™ i.e. it cannot pos-
sibly be drawn from the facts given

or it contradicts the giver facts.

(Note : Each of the five ques-
tions has only one distinct answeri.e.,
no two questions can have the same
answer. If you get same answer for
more than one question, consider both
again and decide which one of the two
would more definitely be that answer
and same way review others also.)

Normally, dealings with banks
involve a number of documents and
other details. But that's not the case
when you wish to shift from BPLR to

—{ BPRE-721
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the base rate system. All the borrow-
er has to do Is approach the branch,
from which he has taken the loan, and
give a written application for the
switch. The borrower should mention

the detafls of existing loan therein.

96. All the borrowers are required
to shift from BPLR to the base

rate system.

87. There may not be a printed ap-
plication form for applying for

this switch.

88. The existing borrowers who
wish to switch from BPLR to the
base rate system are being ad-

dressed.

89. Car and Home loan borrowers

are being addressed,

100. Only the very high value borrow-

ers will mostly apply for this

switch.

Directions (2102-103) : Below is

glven a passage followed by several

possible inferences which can be

drawn from the facts stated in the pas-

sage. You have to examine each infer-

énce separately in the context of the

Passage and decide upon its degree

of truth or falsity.

(Indian Bank PO Exam. 02.01.2011

(Ist sitting)

Mark answer (1) If the inference

is “definitely true” i.c. it properly fol-

lows from the statement of facts giv-

en,

Mark answer (2) If the inference

is “probably true” though not “defi-

nitely true” in the light of the facts
given. .

Mark answer (3} If the data is

inadequate i.c. from the facts given,

You cannot say whether the inference

18 likely to be true or false.

Mark answer (4} If the inference
is “probably false” though not “defi-
nitely false” in the light of the facts
given.

Mark answer (5) If the inference
is “definitely false* 1.e. it cannot pos-
sibly be drawn from the facts given
or it contradicts the given facts.

(Note : Each of the five questions
has only one distinct answer i.e. no
two questions can have the same an-
swer. If you get the same answer for
more than one question, consider both
ain and decide which one of the two
rould more definitely be that answer

nd in the same way review the oth-
s also.)

Cardiovascular disease is so prev-
alent that virtually all businesses are
likely to have employees who suffer
from, or may develop, this condition.
Research shows that between 50-80
per cent of all people who suffer a
heart attack are able to return to work.
However, this may not be possible if
they have previously been involved in
heavy physical work. In such cases,
it may be possible to move the em-
Ployee to lighter duties, with appro-
priate retraining where necessary.
Stmilarly, high-pressure, stressful
work, even where it does not involve
physical activity, should also be avoid-
ed. Human Resource managers should
be aware of the implications of job
roles for employees with a cardiac con-
dition,

102. Employees who suffer from car-
diovascular disease are mostly
unable to return to work.

102. Employees suffering from Car-

diovascular diseases are unable

to handle stressful situations.

103. Employees above the age of 50

are found to suffer from cardio-

vascular disease.

104. Physical and stressful work def-

initely leads to a heart attaclk.

108. Heart disease can affect employ-

€es in any type of business.

Directions (106-110) : Below is

given a passage . followed by several

possible inferences which can be
drawn from the facts stated in ihe pas-
sage. Yout have to examine each infer-
€nce separately in the context of the
passage and decide upon its degree
of truth or falsity.

(Punjab & Sind Bank PO

Exam, 23.01.2011)

. Mark answer (1) if the inference
is 'definitely true’, i.e. jt properly fol-
lows from the statement of facts giv-
en.
Mark answer (2) if the inference
Is ‘probably true’ though not ‘definite-
ly true’ in the light of the facts given,
Mark answer (3} if the ‘data are
inadequate’, i.e. from the facts given
you cannot say whether the inference
Is likely to be true or false,
Mark answer (4) if the inference
is ‘probably false’, though not ‘definite-
ly faise’ in the light of the facts given,
Mark answer (5) if the inference
Is ‘definitely false’, Le. it cannot pos-
sibly be drawn from the facts given

/
"%% .

andaaali.

Aviation is importag_
industry in its own right
cilitator for the succegs
tiveness of other indug T con,

cess of the aviation lncluat'w h%_
integral to national mmpelltlve Uy,
economic development anq N
progress. More importantyy, Sooyy
supports those new CONoMy 40 0
on which India’s future progr - Sty
lies, like information technom Te,
technology, finance and electyn.
That India’s air transport, mduauy
on the rise is an undisputapy, ¢ ®
However the Indian economy w[a*‘-l
achieve its true potential if we mt%l,
to compete In the Industrieg ofahk
future, We need to be strong i, e
areas with potential to grqy, and&
role of India's aviation Sector jg criy,
cal in this regard,

108. India needs to make Massiye ,
vestments in infrastructyry db
velopment.

107. Growth in India’s aviatign 8es.
tor is important to its €Cconory,
development,

108. India has made Substantia) g,
velopment in the biotechnologg
sector.

109, India has tremendous Potentiy

to grow in the emerging indy,,
tries.

110. Aviation sector in India has ny
fulfilled its role in the Past inty
economic development.

111. Read the following informatiog
carefully and answer the ques.
tion which follows.

One of the main reasons behind
the lack of applicants for teach
ers’ training / degree pro-
grammes is that teachers have
not experienced any improve-
ment in working conditions and
their salaries have not kept pace
with salaries in other profes-
sions.
Which of the following can be s-
ferred from the given paragrapt?
(1) Very tough entrance examis
also one of tile reasons be-
hind plunging number of a
plicants for teachers’ training
Programmes.
(2) In the years to come, th
schools would face a crunch
in terms of availability of qua

1}

L

or it contradicts the given facts.

‘l--—..l.._-
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ified teachers
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will improve If the
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t

a / programmes for oth-
%qda‘? lﬂwproﬂ f!”sjons are also as
1&% ;food as teachers’ training
oy per of applicants for
Qq:;" 4 # [I::l:;’hcl'a' training pro-

e g, O es In other professtong
0y “\{T f;arﬂeduced
1 Nodirect relationship can be
log, Y. & between the work
ﬂdlru'dq tions of a particular pro-
ayty (esston and preference for
}w;l["q it amongst the qualifled can-
'e%o“ didates
N (Bank Of Barods PO
. of “lg Exam. 13.03.2011)
'g l"lb‘ gead the fol'owing information
r%m ﬂﬂ-canﬁ_luyand answer the ques-
Is ty|  yonwhich follows:
Get more involved In our real
Shy, | gorld. Food inflation is a fantas-
Uty 4 ! ic way to teach our children
" pathematics. Try having your
D 5, child plot graph of how in-
”"’:' comes have grown in India for
different jobs between, say, 1950
» d today (engineer, doctor,
1 th matd, driver). Have them plot
°ba how costs have grown in the
same period: it will be a fun ex-
Uiy ercise.
s the time they finish the exer-
cise, not only will your children
oy learn a lot, but likely you will re-
Nl alize too that while our incomes
have zoomed 300 times in this
in period, salaries of maids have

probably gone up only 50 times,
and costs have gone up 100
i times. Your maid still has a sev-
en-day week, with no paid vaca-
F tion or casual leaves. And realiz-
ing just how lucky we are is of-
ten the first step towards seri-
ous philanthropy.
All the following can be inferred
from the above except for one:
(I} Real world problems are a
good way to understand oth-
er subjects as well as have
appreciation for the real

¥
— 1 CONCLUSIONS/INFERENCES i

(4} When we realize
that we have
been lucky, we tend to think

about philanthropy and help-

have not been

{5 Not only children, even the
parents and other adults
need to understand and sen-
sitise themselves about the

(Bank Of Barvda PO
Exam. 13.03.2011)

foll Dllbﬂtlon.[llﬁ-llﬁ):Readthc

Oflowing information and five state-

Tents given below it carefully and an-

swer the questions which follow :

(Indian Overseas Bank PO

Exam. 22.08.2011)

People in the remote village of

Kenal are now totally self sufficient

and liberal and no longer wait till

People from urban areas dish out em-

powerment as a special privilege or
favour.

(A} Many of the residents formed
a group and initiated a self
help micro-credit program
which provided help and sup-
port to the villagers to start a
new business.

(B) There was a time when the
villagers had to seek favours
from their urban counter-
parts. :

(C} Kenal lacks the new advance-
ments and technological de-
velopments owing to a lack
of urban intervention.

(D) Many other villages are now
approaching the people from
Kenal to help them follow the
same directions.

(E) Women in Kenal too are real-
izing the importance of em-
powerment and are taking
every possible step to add to
their family’s kitty.

118, Which of the statements num-

114, Which of the statements nuim-

118. Which of the state

16. Which of the following repre-
! ussion

bered (A, (B, (C), (D) and (E)
mentioned above would

that intervention from their ur-
ban countcrparts can also be
baneficial to a certain extent?
(MA 2B

@c D

)
ments num-

bered (A), (B}, (C), (D) and (B}
mentioned above re| s &
step which helped the process
of liberalization and empower-

ment of the villagers?
mA 2B
@c 4D
(B E

sents a result / reperc
of the success experienced by
{he residents of the village Kenal?

B (21C
(3)BothCandE

@A (B D

117. A few travellers were severely

beaten up by villagers recently
in a remote rural part of the

state as the villagers found the
movement of the travellers sus-

picious. The district authority
has sent a police team to nab
the culprits.

Which of the following inferenc-
es can be drawn from the above

statement?
(An inference is something which
18 not directly stated but can be
inferred from the given facts)
(1) The villagers dislike presence
of strangers in their vicinity.
(2) Villagers are generally suspi-
clous innature.
. (3) Travellers prefer to visit
countryside.

(4) The Government generally
provides protection to trav-
ellers across the country.

{5) None of these

(IBPS Bank PO/MT CWE

Exzam. 18.00.2011)

Directions (118-123) : Read the
following information carefully and an-
swer the questions which follow:
{IBPS Bank PO/MT CWE

Exam. 17.06.2012)

world problem ‘
(2) Food inflation has affected bered (8), (B), (C). (D) and (E} can
very differently different pro- be tnferred from the given state-
fessionals over the years ment? {Aninference is something
(3) Though there are huge sala- which can be directly inferred
1y differences, for all the from the given facts)
Jobs/professtons the in- (1) OnlyA (2 OnlyB
Crease has atleast not been 2 Only C (4) Only D
less than the rate of inflation B
over a longer perlod of time (3) BothAandE
— [ BPRE-728
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Small brands are now looking
beyond local grocery stores and are
tylng up with Supermarkets such as
Big Bazaar to pull their bustness out
of troubled waters,
118 Which of the following can be

inferred from the given informa-
ton? {An inference is something
that {s not directly stated but can
be inferred from the given infor-
mation)
(1) Merchandise of smaller
brands would not be avail-
able at local grocery stores

in the near future,

(2) Smaller brands cannot com-
pete with bigger ones in a
supermarket set-up.

(3) There Is a perception among
small brands that sale tn a
supermarket is higher than
that of small grocery stores,

(4) Supermarkets generate more
revenue by selling products
of bigger brands as com-
pared to the smaller ones.
{5) Smaller brands have always
had more tie-ups with super-
markets as compared to
small grocery stores.

Directions {119-122) : These

questions are based on the informa-
tion given above and the sentences la-
beled (A), (B}, (C), (D). (E) and (F) as
given below.,

(A} A smaller brand manufac-
turing a certain product of
quality comparable with that
of a bigger brand, makes
much more profit from the
local grocery stores than
from the supermarkets.

(B) As the supermarkets have
been set up only in bigger
cities at present, this step
would fail to deliver results
in the smaller citles.

() Supermarkets help the
smaller brands to break into
newer markets without in-

121. Which of the statements {4}, (B},

122. Which of the statements num-

{F) Smaller brands are current-
1y making substantial loss-
es in their businesses.

119. Which of the statements num-
bered (A), (B), (C). (D), (E) and
(F) can be assumed from the
facts/ information given in the
statement ? (An assumption ia
something supposed or taken for
granted)

(1) Only (A)

(2) Only (B)

(3) Both (B) and (C)

{4) Both (D) and (E}

(5) Only (F)

120. Which of the statements num-
bered (A), (B). (C), (E) and (F) rep-
resents a disadvantage of the
small grocery stores over the Su-
permarkets from the perspective
of a smaller brand ?

(i) Only (&)

{2) Oniy (C)
{3) Only (E)
{4) Only (F)
{5) Both (B) and (C)

(C), (D) and (E) mentioned above
represents a reason-for the shift

from local grocery stores to su-
permarkets by the smaller

brands ?

(1} Only (A)

(2) Only (B)

(3) Only (D)

(4} Both {A) and (D)
(5} Both {C} and (E)

bered W. ‘B}- (C], (E) and m men-
tioned above would prove that
the step taken by the smaller
brands (of moving to supermar-

kets) may not necessarily be cor-
rect ?

(1) Only(a)  (2) Only (C)

(3) Only (E) (4} Only (R

is “definitely true” Le. 11, Property

Mark answer (2) If the i,
is “probably true” though ney “defy
nitely true” in the light of 1h, fagy,
given.
Mark answer {3) If the daat, Tl
inadequate i.e. from the facts lver, '
you cannot say whether the inferep, . |
is likely to be true or false, i
Mark answer {4) If the inf,
is “probably false” though not *ge,.
nitely false” in the light of the facty |
given. :
Mark answer (5) If the Infereng,
is “definitely false" i.e. it Cannot pyg.
sibly be drawn from the facis Eiven
or it contradicts the given facts,
(Note : Each of the five questign,
has only one distinct answer {.¢, no
two questions can have the same gy,
swer. If you get the same answer fo,
more than one question, consider bott,
again and decide which one of the twg
would more definitely be that answe,
and in the same way review the oth.
ers also.)
Cardiovascular disease 1s 50 prey.
alent that virtually all busineases aee
likely to have employees who suffer
from, or may develop, this condition,
Research shows that between 50-80
per cent of all people who suffer a
heart attack are able to retum to work,
However, this may not be possible if
they have previously been involved in
heavy physical work. In such cases,
it may be possible to move the em-

dition.

£
lows from the statement of faeqq -

ployee to lighter dutles, with appro-

priate retraining where necessary.

Similarly, high-pressure, stressful
work, even where it does not involve
physical activity, should also be avoid-
ed. Human Resource managers should
be aware of the implications of Job
roles for employees with a cardiac con-

\/

Mark answer (1) If the ‘“"“enct 2
¥

vesting substantfally in dis-
tribution.

(D) Supermarkets charge the
smaller brands 10% higher
than the amount charged to
the bigger brands.

(E) Being outnumbered by the
bigger brands, visiblity of
the smaller brands at local
grocery stores is much low-
€r as compared to the su-
permarkets.

(3} Both (B) and (E)
Directions (1238-127) : Below is
glven a passage followed by several
possible inferences which can be
drawn from the facts stated in the pas-
sage. You have to examine each infer-
ence separately in the context of the
passage and decide upon its degree
of truth or falstty.

(IBPS Specialist Officer CWE

Exzam.17.03.2013)

123. Employees who suffer from car-
diovascular disease are mostly
unable to return to work.

124. Employees suffering from Car-
diovascular diseases are unable
to handle stressful situations.

125. Employees above the age of 50
are found to suffer from cardio-
vascular disease.

128. Physical and stressful work def-
initely leads to a heart attack.

{ BPRE-724
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N
. r‘%h’ﬁ? :: e :f; any type of business,
o, te ; There are several :"Um.ry Talong {s more d
tryg of wrist watches in ent of Tourt epen- ation has ordered to procure
ey It g wPe? the sm industry th
O+t Wﬂd.AﬂGWWOfdmtalm any other. an new aircraft to be added to the
thy }"Q, watch jas been introduced in the Statement It : Students wiil existing fleet this ycar.
Yy ¢ which can calculate the encouraged to go for hight be Which of the following most ap-
! qig‘ e span of a person. The wriat lesto Talong, higher stud- propﬂately proves that the decl-
bglh | atch stops when the person Which of the g sion taken by the aviation min-
ey, ™, dies: ments can he m}' en two state- {ster is unrealistic and not based
which of the following can be gven il'l.fol'matlon?;red from the on sclentific projections?
f cluded from the facts lssome (An inference (1) Arecentsurv showed that
5 a7 glven thing which is not direct- i
?;. SN ,taten;e lgoatated but can be inferred the existing aircraft in the
r%h (1) This could lead to chaos and m the given facta.) fleet fall to match the inter-
: confusion in the world {1} Neither I nor It ‘can be in natlonal standards and qual
- person can know how lo ferred fro - ity norms.
::;:;E @ jife is Jeft and he could 1135 mation. m the given Infor- (2) These new aircraft have bet-
 Eh, his life happlly 2) Bothland ter technology and greater
, vy 1l can he inferred
. (3) The new wrist watch has al- from the given Inf number of seats as com
tered the life pattern @ E ormation. to ones already existing in
e, people pattern of the f ther L or il can be inferred the fleet
" m | mm the .
e an, The statement implies that 4} only1 caiw ;: ;‘n;'omation. (3) The neighbouring country
°F ly death Is certain the given mformafirmd from which also procured aircraft
b : (5 None of these (5) Only Il can be in °“;I jacked enough number of
: g PO/MT - the lnforma:::; from trained pilots.
m";: 26.10.2019) | 131+ This question consists of' (4) As the number of passtHely
1 statement ! Experta define the formation foliowed by ma;t'aitn- has declined significantly this
seclal entrepreneurship as such ments numbered Land 11, year, the existing flect ' 7%
M. hat pursues opportunities to The travel authorities of ' being used to its full poten-
i serve the mission to give solu- Talong have eased the country tial. _
0;’ . gons to soclal problems. Busi- of acquiring visa for the process (5) As many as 12 pilots are not
measure performance in pro coun * economy of straight weeks due to lack of
- p ﬂt uy Ta.lo
rf and return. dent of 'I‘ouri?a%nl”In!:lwre depen- sufficlent atreraft to ply on
¥ Which of the following can be any other. ustry than the routes.
concluded from the above (IBPS Bank PO/MT CWE-V
fn state- State . .
{ ments? encOurmage; tlcl> : S:_:udents will be Main Exam. 31.10.2018)
_ (1 It s possible to address so- les to Talong, go for higher stud- 133, Study the given information and
- cial problems while making Which of the given two st answer the question
: business profitable. ments can be inferred fromattl‘:- cau i-'otlll-ng term usage of antiblotics
l {?) Social entrepreneurship is given information ? {An m]‘erenc: m:e ° ﬂf disease, ‘Cretosis’ as it de-
' different from the business is something which is not direct. Whﬂsei;o e secretion of hormone X.
entrepreneurship. ly stated but can be inferred fron; hom:oned;é 3?3 endure the level of
(9 Business entrepreneurship the given facts.) quired number gﬁmg to half the re-
does not care social problems (1) Neither I nor II can be in- droppin crograms, in levels
while devis e in pping to 23-micrograms needs im
oicy ing their business ie]an;ied from the glven infor- | Mediate medical attention .
* . on. . .
Which
(9) Business entreprenevurship is {2} Bothland Il can be inferred concluc;::rdt;zrf,og,Mg can be
s mportant ha o | o pcambomiored | 0 A e
p. er 1 or Il can be infe
() None of these from the given inf grred (1) A patient can be sald to have
BPS : ormation. Cretosis only if his/her h
Bank PO/MT CWE-HI, (4 Only I can be inferred from mone X levels er hor-
0 T g 26.10.2013) the given information. grams of low, 23 micro-
ok eatlon conelsts of an in- (5 Only Ii can be Inferred from 2) Usage of '
ments :n followed by two state- the given information. term car?;l tiblotics on a short
travuml:nered landIL ‘ (BOB Junior Management ever o a “gilcause Cretosis’
Talong l:‘rlauthonueg of country Grade/Bcale-I Exam. 18.04.2018) (3) All microo or extent.
of Ulﬂ?l‘émsed the process (Bank of Baroda Junior Management of the amg; ‘;mts i? t;lmc tly half
for th Grade/Scale-I Exam, 18. nt of hormone
e tourists. / 8.04.2018) required daily by the body. X

\
=~ BRRE-735 |1
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{4) The normal numbers of micro-
grams of hormone X Is more
than all micrograms.

{8) In a patient with hormone X

level of 21 microgram, if ad-
ministered another 23 micro-

grams would bring the level to
absolute normal.

(IBPS Specialist Officer
(Marketing) CWE 01.02.2018)

134. Study the given information care-
fully to answer the given ques-
tion :
The following are two findings of
a one year long survey conduct-
ed on the employees of Compa-
ny K.

{A) Every time, an employee i3 re-
warded for his/her work, he/she
has performed better for at least
next two years.

(B) The performance of none of the

emplaoyees of Company K has im-
proved in the past ten months.
Which of the following can be
inferred from the given Informa-
tion?
(1) More than 90% of Company
K's employees work to their
highest potential only when
they are rewarded.

(2) All the employees of Compa-
ny K have been rewarded at
least once in their work span.

(3) The employees receive heavy
incentives apart from being
rewarded which drive them to
perform better.
(4) There are factors other than
being rewarded which affect
the performance of the em-
ployees.

{5} No employees has been re-
warded for his/her work in
the last two quarters,

(IBPS Specialist Officer
(Marketing) CWE 01.02.2016)
13%. Study the given information care-
fully and answer the question giv-
en below :

‘Ever since we started involving
our employees in the key decisfon
making process from the last year, the
productivity of our employees has been
100%’ - statement by HR manager of
Company D.

Which of the following statements
can be inferred from the given state-
ment ? (An inference is some
which you can logically deduce some-

thing to be true based on known pre-
mises.}

136. Study the given information care-

(4) *Kalikaar' was an innovation of

(B) Only the authentic ‘Kalikaar’ de-

. Which of the following can be

- {3) During the existence of

- (5) Since not many people be-

—
of Com, D will
(1) Emplayees D edisions SBI PO EXAMS vﬁ
in all the situations. ely " Directions (1 2] 1 Gh’eﬂ el "o““d
(2) Company D completely relles " o P
for all is onse passage followed by severa)
gn ita eufployeeﬂ or all key sible inferences which can be 4,23; t

(3) The productivity of employees
of Company D has always
been satisfactory in the past.

(4) Involving employees in decl-
sion making process is an ef-
fective method to motivate

them.

" (5) Employees of Company D
have now become competent
enough to give valuable sug-
gestions.

(IBPS Specialist Officer (IT)
CWE 14.02.2016)

fully to answer the question giv-
en below :

‘Kaltkaar' is a famous fabric
threadwork that originated in City
G of a country.

‘Hardall' tribe of City G. Though
the tribe lost its existence long
ago, ‘Kalikaar' 1s still very much
fn demand.

picts fruits and flowers of a spe-
cific tree that was worshipped by
‘Hardall’ tribe.

inferred from the given informa-

tion ?

{Note : An inference is something

by which you can logically de-

duce something to be true based
on known premises.)

(1) The ‘Hardali’ tribe did not
worship Gods and Goddess-
es.

(2) Some people not belonging to
the tribe have taken the ‘Kali-
kaar’ work forward and man-
aged to keep fulfilling its de-
mand.

‘Hardali’ tribe, ‘Kalikaar’ was
the only means of their in-
come,

{4) No city other than city G sells
authentic cloth materials of
‘Kaljkaar’ threadwork.

longed to the ‘Hardall’ tribe,
others came to know about
the tribe only through its in-
novation of ‘Kaltkaay’,

(IBPS Bpeclalist Officer (IT)

from the facts stated in the pasg f
You have to examine each inferenc, gl'dl
geparately in the context of the . o
sage and decide upon its degree of el
truth or falsity. LB
(SBI Associate Banky py | glblt'

Exam. 14.02.199y o ¢
Mark, if you think answer
(1) the inference is ‘Definiyyy
True' i.e. it properly follows from th,
statement of facts given.

(2) the inference is 'Probm,
True' though not ‘Definitely True';,
the light of the facts given.

(3) the ‘Data are Inadequate’ je.
from the facts given you cannot
whether the inference is likely to be
true or false.

(4) the inference is ‘Probably
False' though not ‘Definitely Falge |
in the light of the facts given.

(5) the inference is ‘Definitely -
False' i.e it cannot possiblybedrawn ¥
from the facts given or it contradicts
the given facts. fe

‘Holidays on Instalment Payment  $
(HIP) plans are being introduced, Ac- | ﬁ

A
C
¢
f

FeeRRRRTLY

,_m___
-

cording to an Indian Market Research
Bureau (IMRB) study, at least 12,000
families in Mumbai alone will opt for °
such deferred payment plans for their
holidays in the next three years.

1. In Mumbai Holidays on Instal-
ment Payment (HIP) seems tobe
fulfilling need of people.

2. Compared to the total number of
membership of HIP from Mum-
bai appears to be a ‘Tip of Ice-
berg'.

Directions (3-9) : Below is given
a passage followed by several possi-
ble Inferences which can be drawn
from the facts stated in the passage.
You have to examine each inference
separately In the context of the pas-
sage and decide upon its degree of
truth or falsity.
(SBI Assoclate Banks PO
Exam. 16.07.2000)
Mark answer (1) if the inferenceis
“definitely true” i.e. it properly follows
from the statement of facts given.
Mark answer (2) if the mfel_:e“ce
is “probably true” though not defl-
nitely true” in the light of the facts

CWE 14.02.2016)

-J TITATRYS -Ma—l'l LN S S

given,
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aswer are | passage
Y ot 0 L.c., from the facts given | inferen - You have to examine each

I ! whether the Inference ©€ 8eparately in the context of
"Qn the Passage d
ova! by b 8% e true or false. d of and decide upon its
! by b ?,ul‘v (4) if the inference (sn1 truth or falstty.
« d,g\ ,prl false” though not “def)- Mar Banks PO Exam. 20.08.2000)
- l;b,?:@q;ﬂ 15'7‘1':1‘:81!1“ the light of the facts | ,o 'deﬂ:um (1} if the inference
i | et oo tely true’ L. i properly
degrp“& p“d‘ - answer (8) If the inference EM:'B from the statements of facts

fy :lg;m,mn" Le., it cannot pos- .
\ 8¢ qrawn from the facts given | ,, F“k aAnswer (2} if the inference
020k | @Y bcmdms the facts. 'S Pprobably true' though not
WQ} % 0;“- cor;rcmel‘lt of wheat is in full fﬂctalnnltd’ true’ in the llght of the
Do, Pf"zl the northwestern states of given.
fr;llzlu’ g8 o June end. public agencies Mark answer (3) if the data are

G| o2 BV Tend up with foodgrain | 22dequate Le, from the facts given
Ih"‘h #€ s of about 40 to 42 million {soﬁkw say whether the inference
N.l’ S(Dccs’ the mghcst CVCI'Wit.ncssed in ely to be true or false.

iy [ jond of this country. This stock i ,““k answer {4) if the inference
gy, | U711 be more than sufficient to en- | .5 probably false® though not
nog | s that the country’s “food securi- definitely false’ in the light of the
i 7%, not endangered even If India facts given.

bt: ”oes two consecutive drought. But .Mark answer (5) if the inference
Obyy, - Zrarlge'?em“gh’ while the granaris | IS 'definitely false’ i.e., it cannot
'Ry ediow, there 1s still widespread | Possibly be drawn from the facts

oF® given or it contradicts the given facts.

ynger in the country even without
["‘tu,  draught- The estimates of poverty
Oray,  gre being debated, but broadly one-
iy, grd of India seems to remain under-
fed. And this co-existence of grain
qurpluses with large scale hunger

mt make any serfous policy maker
ar) and examine the existing poli-
200 mix with a view to ensure faster

Pty economic growth and reduction In

thet  poverty. -

3, india's foodgrains stock has been
5tal satisfactory over the past few
tobe years.

4.India, at present, is one of the
e countrles in the world to have
um  gufficlent food for its people.

It g The distribution of foodgrains to
the masses has remained a prob-
g lem area for India.
. 8. The policy of India needs to be
¢ revamped to reduce the extent
o of poverty in the country.
s 7 India always maintains foodgrain
¢ stocks to withstdnd two consec-
utive droughts.
: 8 More than 30 per cent of popu-
lation in India do not even get two
: times meals per day.
8.The policy makers in India are
., Unaware of prevalent hunger.
. ml:etlonl (10-14) : Below is
| Passage followed by several
Possible inferences ‘iv.rhlctl:y can be

R

The XYZ Co-operative Milk
Marketing Federation of India Limited
has targeted a sales turnover of Rs.
10,000 crores by the year 2005. As
a part of its projections for the next
five years, the federation had
envisaged Rs. 100 crore worth of
exports per year as against its
present exports of Rs. 30 crores per
year.
As per the federation’s plan, the
future network will include 100 offices
dealing with about 7500 stockists,
who in turn would be covering every
taluka headquarters and servicing
about 10 lakh odd outlets. Its
immediate strategy would be to cater
to India’s next door neighbours for
exports of milk-products.
The main players in this business
in the world are India, United States,
Europe, New Zealand and Australia,
out of which Europe and United States
are forced to go for subsidising due
to rising labour cost while Australia
and New Zealand are far away from
India.
10. By 2005, more than 80 per cent

of product of XYZ will be used
for domestic market.
11. The federation's emphasis
appears to be more on exports
than on domestic consumption of

tion below is given a state
lowed by two conclugions num!
and IL. You have to ats;:t:m 4
tement to .
::dtel:-eﬂi?two conclusions together and
decide which of them
beyond a reasonable
information given

12, By 2005, India will be the largest
player in the milk indusiyy:

have an jmmediate
13. Indla does not hav gmllkand

competitor in exportin
its product to neighbouring

countries.
14. The XYZ Federation may have to
train additional manpower toen-
able it to reach all corners of In-
dia and its neighbouring coun-

tries.

Directions (15-19): In each ques-

ment fol-

me everything

loglcally follows
doubt from the

in the statement.
(SB1 Banks PO Exam. 20.08.2000)
Give answer (1) if only conclusion
I follows.

Give answer {2) if only conclusion
11 follows.

Give answer {3) if either 1 or i

follows.
Give answer (4) if neither 1 nor 11

follows
Give apswer (%) if both 1 and 1

follow.,
15. Statement : Although we have

rating agencies like Crisil, ICRA,
there is demand to have a sepa-
rate rating agency for IT Compa-
nies to protect investors.
Conclusions :

1. Assessment of financial worth of
IT Companies calls for separate
set of skills, insight and compe-
tencies,

II. Now the investors investing in
L.T. Companies will get protec-
tion of their investment.

16. Statement : Company “Y" will im-
prove the manufacturing facilities
for the production of shaving kits
as a result of which capacity
would increase and cost would
be reduced— A spokesperson of
the Company “Y".

Conclusions :

1. The products of Company “Y" will
complete the market norms in the
quality and cost factor.

I1. There will be demand of shaving
kits of Company “Y"?

its products.

from the facts stated in the
\-L
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total loss incurred by the
Public Sector Unijts was to

by the

Concilusions :

L. The Government is left with o
one option that
these units,

in these public sector units,

€s is going to be the scenario
many developing countries
days to come,
Conclusions :

crease in future,

IL It will be very difficult for the gov-
¢mments of developing countries
to provide its people decent qual-

ity of life,

19. Statement : Mr. X is one of the
probable candidates shortlisted

17. Statement : During 1997-98 the

tune of Rs. 6809 crore which
was converted into paid capitals
Government of jts total
Investment of Rs. 5129 crore.

is to privatise

II. The Government did not take
care in the matter of Investments

15. Statement : Population increase
coupled with depleting resourc-

I.The population of developing
countries will not continue to in-

-§ CONCLUSIONS/INFERENCES |}

Mark answer (5} if the inference
is ‘definitely false’ L.e., it cannot pos-
sibly be drawn from the facts given
or it contradicts the given facts.

Poliution amounts to slow mur-
der. Regular exposure to industrial
and vehicular pollution leads to lifeth-
reatening diseases like asthma, heart
problems, cancer and various other
disorders. Therefore, nobody l:[as :lr'lle

{ to pollute, rich or poor. industri-
arﬁl.:td vsl‘zlcular pollution are growing
rapidly across the country. It is not
Just metropolitan centres that are
heavily polluted today but also small
and medium towns. Poliution is grow-
ing faster than the economy. This is
because the western technological
model, built on heavy use of energy
and materials, is an inherently highly
toxic model. It produces huge
amounts of taxic pollutants, which can
be controlled only if there iIs careful
choice of technology and there is con-
siderable discipline in its use.

20. The spread of pollution has gath-
ered momentum in the recént
past.

21. The pollution level in the west-
ern world is considerably more

111
the

nly

of
in

for the post of Director of K.L. M. than in India.

Institute, - 22, Proper planning in use of mod-
. ern technology leads to less pol-

Conclusions : lution in the environment.

I Mr. X will be selected as Direc-

tor of K.L.M. Institute,

I1. Mr. X will not be selected as Di-

rector of K.L.M. Institute.

Directions (20-24) : Below is giv-

€n a passage followed by several pos-
sible inferences which can be drawn
from the facts stated in the Ppassage,
You have to exarmine each Inference
separately in the context of the pas-
sage and decide upon its degree of
truth or falsity.
(SBI Banks PO Exam. 11.02,2001)
Mark answer (1) if the inference is
true’i.e., it properly follows
from the statement of facts given,
Mark answer (2} if the inference is
‘probably true’ though not ‘deflnitely
true’ in the light of the facts given,
Mark answer (3) if the ‘data are
lnadequate’ i.c,, from the facts given
you cannot say whether the inference
Is likely to be true or false.

Mark answer (4) if the inference
is ‘probably false’ though not ‘defi-
nitely false’ in the light of the facts
given and

23. The industries which use higher
level of energy create more pol-
lution.

24, The smaller industrial units con-
tribute proportionately higher pol- .
lution.

Directions (25-29) : Below is
‘given a passage followed by several
possible inferences which can be
drawn from the facts stated in the
passage. You have to examine each
Inference separately in the context of
the passage and decide upon its
degree of truth or falsity.

(SBI Bank PO Exam., 18.06.2003)

Mark answer (1) if the
inference is ‘definitely true’, {.¢., it
Properly follows from the Statement
of facts given,

Mark answer (2) if the
inference 1s ‘probably true' though
not ‘deflnitely true’ in the light of the
facts given,

Mark answer (3) if the ‘data are
Inadequate’, i.c., from the facts given
you cannot say whether the inference

is likely to be true or fajse,

——
Mark answer (4) LIETS
Inference is ‘probably false’, tho,. ¢
not ‘definitely false’ In the lign, ;-":ﬁ
fdcts given.
Mark answer (3)

/

.

if ¢
inference is ‘definitely falgq', ; he

cannot pessibly be drawn frome.{h‘:
facts given or it contradicts the Svey
facts. t
From the beginning of theng, ! :;
year, the good news continues o, the |
economic front. Following on the
of encouraging GDP growth figyre for |
the second quarter, we noyw hay, ¥
f

happy tidings on the trade frop as
well. November 2002 aay the

country’s exports record a healthy
16% increase compared to the corre.
sponding period last year. With

the growth rate in exports for the firy
eight months of the current fisc) now
stands at a robust 16%. Of course payy
of the reason for this apparently
encouraging performance is becauge
of the base effect — exports actually
fell 0.8% during 2000-2001. But that
is only part of the reason. For the
rest, recovery in global trade ang to
Blve credit where it is due, concerteq
efforts by exporters have playeq no
small role.

28. The percentage growth in €Xxports
during 2002-2003 was mainly
due to the decreased volume of
exports during 2001-2002.

26. The efforts put in by the Indian
€xporters were comparatively less
than their counterparts in devel-

. oped couniries,

27. There has been substantial in-
Crease in the extent of trade all
over the world during the last
financial year.,

28. During 2001-2002, the quantum
of country’s exports was about

three-fourth of that in 2002-
2003.

29. There has been consistent drop

in quantum of exports during last

three years,

Directions (30-34) : Below is
glven a passages followed by several
possible inferences which can be
drawn from the facts stated in the pas-
Sage. You have to examine each infer-
€nce separately in the context of the
passage and decide upon its degree
of truth or falsity,

(SBI PO Exam. 09.01.2006)
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"Eh"’ b | answer (1) if the inference |  34. Manufacturing sector no lenger
torly | MK LS e, Le. it properly fol-
T [P atement of facts given. depends on agricultural sector.
.J r | e rer (2) If the inference Directions (35-38): Below is given
A ,wl‘]y ¢rue' though not though | 2 Passage followed by several possible
t"ﬁr,'le" N 'P"’babtely true’ in the light of the inferences which can be drawn from
the ty | hot .dcﬁ:.ln : the facts stated in the passage. You
m\'gq facusf" answer (3) if the *data are have to examine each inference sepa-
£ . the facts rately in the context of the passage
the te’, L.e. from BVen | and decid
ey, | #3979 o0y whether the inference §s [ ¢ FETIC€ UPOR its degree of truth
the NN n‘t’o pe true or false. or falsity.
gllr:‘:ela el B nswer (4) if the inference (8B1 PO Exam. 26.11.2006)
Sk | pably false’ , though not ‘defi- _““t answer (1) if the inference
frg hi\'! -5 P"fam- in the lght of the facts | IS "definitely true®, ie., it properly
awnti: ﬂnely follows from the statement of facts
heg £ Jaask answer {9) If the inference | BVeR-
eoth i gofinitely false’, Le. it can not pos- [ Mark anewer {2) if the inference
lth%* ﬁw he drawn from the facts given | s “probably true” though not "defi-
h ly . & contradicts the given facts. nitely true® in the light of the facts
c&: fy ™" pe performance of Indian agri- | &Ven-
ligy - is largely dependent on amount Mark angwer (3) if the “data are
;selhq ﬁ%an across the country. A sub- | imadequate” L.e. from the facts given
"Enuy gantive part of the cultivable land js | YOu cannot say whether the inference
“C2uy Juendent on irrigation which is di- | is likely to be true or false.
uctllal:, colly related to monsoon. However, _Mark answer (4) if the inference
Ut thy griculture and allied activities account | is “probably false” though not “defi-
O lly g less than even one-fourth of the | nitely false” in the light of the facts

Ndf, ol GDP- The component of the
gt sector that depends on
ture for the supply of interme-
diates is not very high, which suggesis
that the structure of industrialisation
nas changed over the years. Several
wmponents of the tertiary sector that
qre crucial for the growth of the rest
« ihe economy have grown sizeably,
ditn yanks to IT and BPO. So it Is less
ke  pyely that aggregate economic growth
evl.  will be adversely affected if rainfall is
scanty. Yet, a somewhat different pic-
i ture emerges if we look deeper into
af the matter. Still, a very significant
aq  chunk of the population and work
fve depends on agriculture for its
m Ivetihood. A decline in agriculture re-
" duces per capita food availability,
, which in turn, pulls down the stan-
" dard of living,
X. Agro based activities constitute
l;;lijbijl’;!'tham 25 per cent of GDP in

&y,

oty
2inly

me of

3L The industrialisation process had

* undergone significant changes

) over the past few decades.

f % Non-industrial and non-agricul-
tural sector activities have con-
Siderably grown over the past few
Years,

&'F""’ak monsoon have adverse ef-
€t on GDP even though non-
agrcultural sector activities may

-known to take adequate precautions

Wt/l L s LTI

given.

Mark answer (5) if the inference
is “definitely false”, i.e., it cannot
possibly be drawn from the facts given
or it contradicts the given facts.

In India the asbestos industry is
growing and employs more than
15,000 people in 75 units which are
spread over several states like
Gujarat, Madhya  Pradesh,
Maharashtra, Andhra Pradesh etc.
Surprisingly, advanced countries are
banning cancer causing asbestos
products, multinational companies are
from those countries which are set-
ting up units in developing countries
like India. One reason being lack of
awareness in the society and indiffer-
ence of the government machinery of
these countries. Prolonged exposure
to ashestos dust and fibres can
cause lung cancer but most workers
in India are too afraid to protest for
fear of losing jobs. Some of these fac-
tories are operating in Mumbai. Quite
a few of the factories in India are not

to protect workers from asbestos
dust.
The Government is taking several
steps to provide medical inspection of
workers. In fact it has amended fac-
tories act to extend the provision to
even those factories employing less

88. The asbestos tndustry is one of
the largest industries in India.

38. The asbestos industries in India
are located in fcw metropolitan

pockets only.
87. The advanced countries are con-
cerned and careful to protect

health hazards of its people.
38. The demand for asbestos prod-
ucts appears to be growing In In-

dia.
89. The Governments of developing

countries appear to be not tak-

ing appropriate measures while

granting pertzigsion to set up pro-

duction units of multinational
companies in their countries.
Directions (40-44) : In each ques-
tion below is given a statement fol-
lowed by two conclusions numbered I
and IL You have to assume everything
in the statement to be true, then con-
sider the two conclusions together and
decide which of them Iogically follows
beyond a reasonable doubt from the
information given in the statement.
(SBI Assoclate Banks PO
Exam. 07.01.2007)
Give answer (1) if only conclusion 1
follows.
Give answer (2) if only conclusion
11 follows.

Give answer (3) if either I or 11 fol-

lows.

Give answer (4) if nei ~er 1 »or 1l

follows, and

Give answer (5) if both and 1l fol-

low.

40. Statement : The cahinet of
State X' took certain ‘eps to
tackle the milk ghut int : state
as the cooperatives and L overn-
ment dairies failed to use the
available milk— A news report
Conclusions :

1. The milk production of St-te
‘X is more than its need.

II. The Government and co-op-
erative dairies in State ‘X’ are
not equipped in terms of re-
sources and technology to han-
dle such excess milk.

4]. Statement : It has been decid-
ed by the Government to with-
draw 33% of the subsidy on
cooking gas from the beginning
of next month— A spokesman
of the Government.

®ntinue to be the same.

S —

than 10 workers
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Conclusions : Mark answer (1) if the inference | 48. Higher NPAs lnduatcnhm% .
i 1. People now n1o more desire of | is ‘definitely true', Le. 1t properly fol- i1g in disbursement anq o T
g; need such subsidy from Gov- | lows from the statement of facts up of credit given by bank, ,;B 1
- emment as they can afford in- given. 46. The Central Bank alwayg |
?:" creased price of the cooking Mark answer (3) I the inference banks to restructure thesr hm;,h% ln”‘ ,

1 gas. is ‘probably true' though not ‘defi- in the event of rise in, NPAs, pgl’“l
IL The price of the cooking gas nitely true’ in the light of the facts | 47. lnwerhxterestratecychw -
will increase at least by 33% given . commercially unviable p, oty d"c1
from the next month. Mark answer (9) if the ‘data are as viable. bty

. 42. Statement ; “The Government inadequate, f.¢. from the facts given | 48. Low interest rate on credit ;! !

f will review the present policy of U cannot whether the inference duces the capacity t0 abaog, -
ihe diesel price in view of fur- ﬁljkely to I::i'me or false ous unaccounted rigk facto::n' 4&"’

, ther spurt in the international oil ) . =Y
' prices™— A spokesman of the Mark answer (4) if the inference | 49, Banks' NPAs occur only dusy, |
i Government. is ‘probably false’, though not ‘defi- economic factors,
/ Conclusions : nitely false’ in the light of the facts Directions (50-54) : Study t, ﬂd‘g
, ’ given. following information carefully ang #
: I. The Government will increase an.
! the price of the diesel after the Mark answer (0) if the inference | swer the given questions : ¥
. imminent spurt in the interna- | is ‘definitely false’, Le, it cannot pos- (8BI Management Executiy,
; tional oil prices. sibly be drawn from the facts given Exam, 23.02.20y
| II. The Government will not in- | Or it contradicts the given facts. Following are the conditions fo,
| . trease the price of the diesel The deterioration fn the overall selecting candidates for Post Grady;,.
i even after the imminent spurt in | asset quality of banks — gross Non- | tion Diploma in Marketing in an Inst;.
the international oil prices. | Performing Assets (NPAs) are report- | tution.
43. Statement : My first and fore- edly 27% higher at the end of Decem- The candidate must
most task is to beautify this'{ ber 2009 than at the end of Decem- ) have a Graduation Degres with ;g
city— if City ‘X’ and ‘Y’ can do ber 2008 - is not surprising. Any at least 50 percent marks ;
it- why can't we do it— State- slowdown in growth is bound to trig- () be at least 22 years as ;
ment of Municipal Commission- ger a rise in NPAs as more and more 01.12.2013 on
er of City ‘Z' after taking over companies default on loan repay- ” ha;re secured at least 40
.Charge. ments. The effect would be pro- per
Conclusions : nounced when the slowdown coin- cent marks in the Entrance Tey
1. The people of City *Z' are not | ¢ides with a severe global recession. | (i) have secured at least 50 pes
aware about the present state of But for the restructuring of loans per- cent marks in the Group Dis. LY
ugliness of their city, | mitted by the Central Bank on fairly cussion and Interview i_
Il. The present Commissioner generous terms, NPAs would have (V) be capable to pay a fee OfRs.4 :
has worked in City XC and Y'and | beey; stinl higher. Prudent banks that lakh per annum at the time of
has good experience of beautt- | tooy care while sanctioning loans and admission.
] fying cities. , then monitored the post-sanction dis- In the case of a candidate who
44. Statement : Women's Organisa- | pyrsement diligently should be able | fulfills all the conditions EXCEPT
:1;‘;9”’3 ;1‘;‘;’1‘? mﬁnmduwdsmﬂ;? to weather the crisis. But it Is one @ at (ii) above but has secured 30
Employment Rules 1946 to ourb thcklliiatlodmtl:;ﬁ tﬂI:c ?3::30 t?'lf a per cent marks in the Entrance
sexual harassment at the work | ¢ cal » 1118 q other Test and 80 per cent marksin
place, to have NPAs rise because of policy the Graduation, his/her caseis
Conclusions : errors that are entirely within the to be referred to the Dean of the
. realm of policy makers. And this is Institution -
L. Sexual harassment of women.
‘what we need to guard against, ) at (v) above but d tan
at work place is more prevalent ¢ but can deposl
in India as compared to other | EXcessiyely low interest rates skew amount of Rs. 2.5 lakh in the
developed countries, the risk-reward equation by making beginning of the first year, his/
II. Many organisations in India | P rojectsvtilzziz afetil?c;ut‘;ny :‘Ot viable, her case is to be referred to the
will stop recruiting women to | 3PPcar q N rest rates re- Director of the Institution. 5
avoid such problems. gerse and the same projects cease to In each question below, detals
e viable ! It is now well established of one candidate are provided. You

Directions (45-49) : Below is
glven a passage followed by several | that tong periods of unduly low inter- have to take one of the following cours
Possible Inferences which can be | ¢St rates encourage banks to take es of actions based on the conditions
more risks. A low interest rate regime given above and the information pro-

drawn from the facts stated in the
driven by an easy money Policy | vided in each question and mark the

passage. You have to examine each in-
ference separately in the context of | rather than macroéconomic funda- | number of that course of action 2

the passage and decide upon its de- | mentals leads to excessive expansion | your answer. You are not to assume
gree of truth or falsity. of credit. It incentivizes banks to take inythlng than the information provid: 0
{SB1 Associates Bank Po | on more risk in search of higher re- | eq'in each question. All these case
Exam. 07.03.2010) { turns and to misprice risk. are given to you as on 01.12.2013. A
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w::' %kn | ::f’:n-cd to the Dean of the In- | to decide which of the given state-

YAy, AT b Cior. ments numbered | and II weakens or
‘h% | i sarks aaswer {2) if the case is | strengthens the statement and mark
2 Npq:\ r referred to the Director of the | the appropriate answer.

ey, 8 0 (SBI Associates PO Ouline
te n,:}\ s anewer (3) If the cand- Exam, 30.11.2014)

Ject:

%] elato be & 85, Statement : The world should
.Ql‘eqjt & ke '::;:égdﬂ the candi- move towards using bio-fuels in

N petsnot 1O th the future as these are more en-
fa%"':; answor tw]t tallidata pro- vironment friendly as compared
ly Uy | ed are inadequate to take a dect- to regular fossil- fuels.

b gon he inf I. While bic-fuels cleaner to
ty. - | Now read the information pro- burn, the process to pro-
y:::la! . Wmcachfg;fgsi;lon and mark your duce the fuel, including the

a;, ! gswer acco : necessary machinery leads
ta,, | 5 AP o83, Ho oun goon to very high carbon emission
[ June, . He can deposit . - O
gy e LS et |1 e s re manutac
u%f ' of admission. He secured crop waste, manure and oth-
3'%: cent marks in the Grad- er by prociucta these. un-
n tngy yation and 55 per cent marks in like fossi)-fuels, are easi’lyre—
the Group Discussion and Inter- newable. '
yiew. He secured 35 per cent
o In the Entrance Test. (1} Statement]weakens the in-
ce m tran formation while statements I
s 8 g Nisha D;sais was born on 8th 1 a natural statement,
April, 1991. She secured 80 per )
B cent marks in the Graduation @ ‘B,,:athkeztfg:mg;alugd. n
and 60 per cent marks in Group @ s ;
0 ssion and Interview. tatement I strengthens the
b Discu She information while statemen
Ty  canpayan amount of Rs. 4 lakh 1l wealk en?sntge sf;tea;fen . t
0 per annum. .
] DI: 52 Subodh Verma was born on
22nd May, 1990. He secured 50
N per cent marks in the Gradua-
ne tion and 40 per cent marks in
the Entrance Test. He secured Di .
60 per cent marks in Group Dis- | . tlonsrtlll-m] : Below are given
W yssion and Interview and can bcl' pai:?ages ollowed by several pos-
deposit an amount of Rs. 4 lakh sible inferences which can be drawn
1% g6 fee. from the facts stated in the passages.
You have to examine each inference

1 g3, Ravindra Sharma was bom on

6 24th September, 1988. He se-

¥ cured 60 per cent marks in the

bt Entrance Test, 60 per cent
marks in the Graduation and 65
percent marks in the Group Dis-
cussion and Interview. He can
pay Rs. 3 lakh in the beginning
of the first year.

M. Rajiv Batra secured 70 per cent
marks in the Entrance Test and
Wwas born on 5th June, 1991. He
Secured 50 per cent marks in
the Graduatfon and can pay Rs.
4lakh at the time of admission.
He secured 60 per cent marks
]1'1 the Group Discussion and
Nierview,

Ditections (85-56) : Each of the
uestions consists of a state-

e T R B3

ks answer (1) if the case {s

bered I and i given below it. You have

(4) Statement]weakens the in-
formation while statement 1I
strengthens the statement.

(5) Both statements I and 1I
strengthen the information.

86. Statement : Always remain inan
air conditioned environment for
better health and well-being.

1. Filters in the air-condition-
ers lower exposure to aller-
gy creating pollen and other
outdoor allergies.

II. Spending two much time in
an air-conditioned environ-
ment result in gradual intol-
erance of body towards nat-
ural temperatures.

(1) Statement I weakens the in-
formation while statements 1l
is a natural statement.

{2) Both statements § and Il
weaken the information.

(3) Statement 1 strengthens the
information while statement
11 weakens the statement.

(4) Statement I weakens the in-

formation while statement I

suengthens the statement.

(5} Both statements I and 11
strengthen the information.

RBI GRADE-B/NABARD
GRADE-A OFFICER EXAMS

separately in the context of the pas-

sage and decide upon its degree of

truth or falsity. -

(RBI Grade-B Officer Exam.17.11,2002)

Mark answer (1} if inference is

“definitely true”, i.¢., it properly fol-

lows from the statement of facts given.

Mark answer (2) if the Inference is
“probably true” though not “defi-
nitely true” in the light of the facts
given.

Mark answer (3) if the "Data are
inadequate”, i.e., from the facts given
you cannot say whether the inference
is likely to be true or false.

Mark answer (4} if the inference is
“probably false” though not “defi-
nitely false” in the light of the facts

q
Bert
lollowed by two statements num-
\

Mark answer (5) if the inference
is “definitely false”, i.e., it cannot
possibly be drawn from the facts given
or it contradicts the given facts.
(1-5) : PASSAGE 1
Logically these are rules of con-
duct. Every country has laid down com-
prehensive series of practical rules for
citizens for resolving mutual contra-
dictory rights and interests. Most of
these rules have been laid down to
sustain social activities. For instance,
many countries have laid down rules
to protest against such unsocial ac-
tivities as theft, attack and murder.
These rules are backed by judicial sys-
tem and executory institutions, which
look after the people who obey the
rules and also who violate the rules,
Wherever the human behaviour is in-
volved such rules are not only for
namesake there but are necessary also,
1. There Is no nced to have any
machinery to ensure strict ad-
herence to the rules by citizens.

given.

BPRE-731
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act with each other.

3. Humanbelngsaresuscepubleto

violate rujes,

4. Without rules, human behavtouyr

degenecrates into anarchy.

8. There are no rules in countries
where citizens' interests and

rights do not contradict.
(68-10) : PASSAGE ) 1 ¢

In the initial years, trade policy in
our country was primarily aimed at
regulating imports having regard to the

~hascent etage of country’s devel

mestic production

cent years,

6. Achievements made in the eco-
nomic growth are attributable to
maximum possible export and

minfmum or almost neglible im-
port.
7. At present, there are no regula-
tory clutches on the export as
export is recognised as the main
force behind economic growth.
8. It is not appropriate to give the
credit of economie growth to ex-
port.
9. Before the implementation of the
idea of liberalisation, our trade
policy was not much in favour
of free import-export.
10. Import used to affect domestic
production in earlfer years,
Directions (11-18) : Given be-
low are two passages followed by sev-
 eral possible inferences which can be
drawn from the facts stated in the
passage. You have to examine each
inference separately in the context of
each passage and decide upon its de-
gres of truth or falsity.
(RDI Orade-B Officer
Exzam, 2007)
Mark answer (1) 1 if the infer-
ence is “definitely true” 1.e, it prop-
erly follows from the statement of

4
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3. There is no need of any rules If
Individuals do not have to inter-

Mark answer (2) : if the Inference
is "probably true® though not “defl-
nitely true” in the light of the facts
given.

Mark answer (3) : if the data are
Inadequate i.e. from the facts given
You cannot say whether the inference
1a likely to be true or false.

Mark answer (4) : if the infer-
ence is “probably false” though not
“definitely false” in the Hght of the facts
given. .

Mark answer (8} : if the inference
Is “definitely false” i.e. it cannot pos-
e8ibly be drawn from the facts given

op. L]
ment and the need to encourage do- | F it contradicts the given facts

through import sub-
stitution measures. Howev, , with the
onset of liberalisation the importance
of globalisation through trade and
making exports the engine of growth
of economy has been recognised, Ex-
port promotion is now a continuous
and sustained effort and spectfic steps
in this direction have been taken and
achievements have been made in re-

Long term economic progress

comes mainly from the invention and

spread of improved technologies. The

acientific revolution was macde possible

by the printing press, the industrial

- revolution by the steam engine and

India’s escape from famine by in-

creased farm yields the so called

‘Green Revolution’. Right now rich

countries are changing the world's cli-

mate by emitting billlons of tonnes of
carbon dioxide each year from the use

of coal, ol and natural gas. In future

years China and Indfa will make mas-

sive contributions to increased carbon

dioxide in the atmosphere. Yet no

country rich or poor, is keen to cut its

energy use, owing to concern that to

do so would threaten jobs, incomes

and economic growth, New technolo-

gles will provide a key part of the so-

lutton, Already, ‘hybrid’ automobiles,

which combine gasoline and battery
power, can roughly double fuel effi-

clency cutting carbon dioxide emis-

slons by half. Similarly, engineers have
developed ways to capture the car-

bon dioxide that results from burning
coal in power plants and store it safely
underground. The new technology
called “carbon capture and sequestra-
tion” can cut 80%, of the carbon diox-
ide emitted during the production of
‘electricity,

11. It may not be practically possible
to switch over to the new hybrid

technologies from the present
ones,

13, In the forthcoming years, India and
China are going to be at the top
of the list of world's developed
countries,

13, The more developed is a country;
less is the contribution to in-

facts given,

crease in air pollution,

14. The new technologies
emission of carbon dlmo:&:“‘tm
only during electricity gapen &y
18, The developing countrieg in
world are trying to evolye |2t
technologles to reduce ¢,
sion of carbon dissxide,
Directions (16-20) : g,
given two passage followed by 5 ¢
al possible inferences which oqy -
drawn from the facts stateq in be
passages. You have to e eu‘!
inference separately in the commach
the each passage and decide Upo ff:
degree of truth or falsity,

(RBX Grade-B opy,,, |

Exam, 300.,

Mark answer (1) if the ""fel'ence
le “definitely true” {.e, it Properly fo. ! i
lows from the statement of faty av.
&1, f

Mark answer (2) if the infer,
is “probably true” though not “definjte.
ly true” in the light of the facts give,

Mark answer (3) if the data are
inadequate 1.e. from the facts gyye, g
you cannot say whether the inferene,
is likely to be true or false.

Mark answer (4) if the inferance
is “probably false” though not “def.
nitely false” in the light of the facty
glven,

. Mark answer (8} if the inferen,
i8 “definitely false” 1.e. it cannot pos.
sibly be drawn from the facts Eiven

z&a%@%@%‘?@& \\

-

b
t
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or it contradicts the given facts.
Passage-l
The immediate is on the

food front. Shortfalls in production
have been allowed to affect supplies
and hence prices. The Government is
Planning to focus on investment in ir-
rigation and even revival of agricul-
tural extension system what is proba-
bly needed is a fresh dose of Green
Revolution strategy. It appears that the
Green Revolution instruments to en-
courage farmers to invest are no long-
er effective. The Green Revolution
strategy was based on the state tak-
ing out the risk of collapse in prices.
Farmers were offered remunerative
prices and a guaranteed procurement
of their produce in case the open mar-
ket could not abeorb it, Farmers could
then borrow from banks, acquire the
Green Revolution Technology and pre-
duce as much as they could. The
pressure on the food subsidy Wit
manageable as long as there wasa

L mh eam e g g pew, g g

.| shortage, Prices in the open market
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ing t\: i ended to be above the procure- | 23. Flls bought more than what was
y e:lea ' pen? . But with the food sur- soild by domestic institutfons this
T 01,,:‘1 4 i meﬂ‘ ch situation has changed. The financial year.
de thy Y p"’# wasunsustainablenot merely | 23, The equity market i3 expected to
. : W of the magnitude of this sub-
: 11s€ experience a subdued activity in
. ael% [ 5e" was also Inefficient. It meant near future.
q by f ¢ ere being led to produce
h!eh eqa,’ o r9 sed just on the prices Gov- 24. The actlvities in equity market
atw%ht- ! croP?® ot fixed and not in relation to :’laztdlreclt relationship with the
anun:‘luk f cf“mrgal demand. In these circum- €0t market.
¢ Eaﬁ 'oanl¥ ces, the Government was reluc- 2B. It is expected that in the early
deu t*lq ’w: 10 keep Increasing procurement ntwm financial year the gap be-
D“'l g ;auwe at the pace that used to be the een the net sales and net pur-
oy price 1 earlier years. chases will reduce substantially.

» ake crucial changes in the

O]I;f:;:” gmm Revolution strategies,

£ &q? g 7. The Government s no longer in
s a position to provide subsidy to

farmers.

Ing
-_-.d;“h% 5. As the open market prices are
A lower, all the burden of procure-

The Government is planning to

Directions (26-30) : Below is
glven a passage followed by several
Possible inferences which can be
drawnfmmthefactastatedmthepas-
sage. You have to examine each infer-
énce separately in the context of the
passage and decide upon its degree
of truth or falsity.

(RBI Grade-B Officer

dagy t ment of crops i8 on the Govern- 11.10.2008)
tg i ment. Mark answer (1) if :;he ;nﬁ;rence
nfqgiﬂ ) Demi“;;? c’:_’:;:phﬂsm g:: 13 “deflnitely true” 1.e. it properly fol-

Eﬁéﬁ lows from the statement of facts given,
7 ’ Mark answer (2} if the inference
Dﬁm 30, The farmers tend to produce the | ;. “probably true” though not *defi-

e fagy
fereny, '
of

Passage-I1

o, (hecurrent market is that domestic
mstitutions seem to have turned buy-
urs after a very long time. They have

oty icen net buyers this month with in-

it s exceeding by Rs. 80 crore till

i wrly this month. That’s admittedly a

::t; smallamount, but its significance lies

w’ inthe fact that domestic institutions

e ke been net sellers every month this

" lnancial year except in September

" vhen their net purchases amounted

o o a microscopic Rs. 28 crore. This
” financial year's net sales by domestic

hsttutions amounted to Rs. 2964
¢ T which has substantially offset

s lenet inflows of Rs. 3187 crore by

+ 18, The net purchases by domestic

¢ Mltutions could indicate that money

- ¥omce again flowing into equity funds,

| ‘1ot to miss the widely expected

! ” Part of this reason could be a

In nvestor portfolios, as people
uot'“ Upon debt and put that money
quity

z L]
1 D°ﬂwstlc Institutions have been
Consistently selling only in all the

crops as per their convenience
and not consonant with the de-

agﬁ: One of the promising features of

nitely true” in the light of the facts
given.
Mark answer (8) if the “data are
inadequate” i.e. from the facts given
You cannot say whether the inference
is likely to be true or false,
Mark answer (4) if the inference
is “probably false™ though not “defl-
nitely false” in the light of the facts
given,
Mark answer (3) if the inference
is “definitely false” 1.e. it cannot pos-
sibly be drawn from the facts given
or it contradicts the glven facts.
A recent report that satellite
data shows groundwater levels in
northern India depleting by as much
as a foot per year, over the past de-
cade, is a matter of concern. The
clear writing on the wall {s that India
faces a turbulent water future and
veritable crisis without proactive
policy and sustainable practices. Be-
sides the poor monsoon this season
and the resultant drought situation
pan-india calls for sustained policy
focus on the water economy. A whole
serles of glaring anomalies do need to
be addressed. For one, there’s far too
much rellance on groundwater. For
another our water Infrastructure for

Months {n this financial year.
\

. ) .
1 BPRE-733

storage and supply Is sorely Inad-

equaa‘ti:. {av:;m. g];l{cy distortions in
artificially under pricing key agri-in-
puts like power have perversely
tncentivised cultivation of water inten-
sive crops like paddy in-traditionally
wheat growing areas.

286, Indla has failed to take mea-
sures to recharge groundwater
adequately in northern part.

27. Wheat cultivation in India re-
quires comparatively more wa-
ter than paddy.

28. Water level in other parts of In-
dia is stable during the last de-
cade.

29, Indla has now put in place a
system to reduce over depen-
dence on groundwater.

80. Adequate monsoon helps In
drawing less ground water for
cultivation and thus preserve
balance, -

Directions {31-35) : In each
question below is given a statement
followed by two assumptions / in-
ferences numbered I and II. An as-
sumption is something supposed or
taken for granted and an inference is
something which can be directly in-
ferred from the given facts. You have
to consider the statement and the fol-
lowing assumptions/ inferences and
decide which of those is/are inplicit
in the statement.

(RBI Grade-B Officer
Ezam. 11.10.2009)

Give answer (1) if only I is im-
plicit.

Give answer (2) if only 11 is im-
plicit.

Give answer (3) if either 1 or 11
is implicit

Give anawer (4) if neither I nor
11 is implicit.

Give answer (5) if both 1 and II
are implicit.

31. Statement : Using calculator for
simpler calculations adversely

affects mathematical abilities of

children. )

Assumptions: °

1. Using calculator for complex
calculations may not affect
mathematical abilittes ad-
versely.

11. Complex calculations cannot
be done manually without
the help of a calculator.

s i
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Expectations : (
I. Knowing that the ,

-] CONCLUSIONS/INFERENCES |

32. Statoment ; For underwater (1} Everyone living In Regari

i E:t.l:::d"“b’ weaponry X should faces problems in commut- wheat Is a part of g
; . Ing lus of the to ® 8y,
- Assumptions ; (2} Discrimination against girla is f:;any countrtis::apmduma?m -
I. Notall weaponty can func- more evident In Regari than pay the desired ol Ty
-. tion well under water. other villages in India it. Amoun 1,
II. There are different kinds of (3} The report had shown Regari 1. Some countries are
’ ;’V:&?::l;y avauab(:e fo‘; In a poor light s ot at importwheat. gy,
n ground an 1 in Regari s not a
under water, “ :hm distance from the 9. gﬂem:t 31:: t?;.imaa“'u
33. Statement : An advertisement village changesa occurred on the i
by Easy Ailr, a private airliney (5) There Is also a lack of inst- due to volcanic cmpunns&“lh
Travel to Meenut by our airlines tute for higher (earning in 65 milllon years ago, Som,
andgetaehancetowinanaﬂ Rewarl Experthocsnotagmem
expcns?s pald holiday to (RBI Grado-B Officer’s volcanic eruption thcor;f‘i"
Bangkok . Exam. 18.12.3011) cordlngtohlmdlnoaaursbe%
lAltumptlm : Directions (37-38) : In each extinct due to the impagt of
' for panpghtsarcavallable | oo below 1o given a statement terold.
. “Expectations™ num- Which of the followin
II. The city of Meerut has an mbgm Expectation Is some- ments may provide aulg;p:.t:lt; i w
alrport. thing which can either be an objec- the theory propounded by g,
34. Statement : As the prices of tive or prospect or desired outcome pert B? i 1
petrol and diesel shoot up more or hope behind the action /statement. () The frigid and sweltering Climag, i !
and more people are resorting You have to consider the statement and extremes caused the extineoy g
to the use of electric cars. the following Expectations and decide of dinosaurs. o
Assumptions : which of the Expectations 1s implicit | (5) A wide crater lying just offthy g
L Using electricity for power- in the statement. Yucatan peninsula was Creaty X

Ing cars is lesa expensive

due to the { f
than using petrol or diesel. .due to the impact of asteryyg, b

(©) Scientists have discovereq loy.

(RBI Officer Grade ‘B’ Online
Exam. 25.08,.2013)

Ii. Many people cannot afford
the ratsed prices of petrol
and diesel.

38. Statement : Book your ratlway
tickets at Jeast three months in
advance to ensure a confirmed

tation I is Implicit.

tation I is implicit.

Give answer (1) if only Expec-
Give answer (2) if only Expec-

Give answer (3) if either Expec-

els of iridium 30 times

than average in the Cretacegyy ' |
Tertfary boundary, the layer y; |
sedimentary rock laid dowy a
the time of the dinosaur extine.

tion,

(D) Some palaeontologists after ana.
ysing the fossil record belteve
that dinosaurs were doingquie

tation I or Il Expectation II 1s implicit.
Give answer (4) if nefther Ex-
pectation I nor Expectation 11 is im-

reservation.

Assumptions ; :
1. No booking is taken by the

railways before three | plicit.
mont.hay of the date of jour- - Give answer (5) if both Expec- ‘::;lugﬂ‘s; :3 &: girr‘ggu?:;t

ney. tations I and II are implicit. came ;thinct. :

I. Q‘o; k:ickets Cl;lclf)d to be | 37. Statement : A promotional cam- (1) Only(a) 5

as mu advance —Forh - ¢

as train tickets, é&’"&e mﬁfi;ﬁ' m&; {2} Only (A)and (C) !

88. Read the following information grounds rather than video games (3) Only (C) and (D)
carefully and answer the ques- at home. (4) Only (A) and (B) {
Jiion wh:ch fo'l:ow:.l o0 the et Expectations : (5) (R(;l:lyof(ﬁBl. (C;;r;d (I:] e

recent report po; e cer e ‘B’

that what stands between girls L g;ﬁu;:l{lzuﬁs t som: l‘l:hn- Exam, 03.08.2014
invillage Regari and a good edu- ing this P ove lolow- | 40. Read the following informatin
catlon is the lack of transport, campaign. and answer the given question. -

to and from the only school in Il. Most of the parents would “The man behind the revivald
the area. not buy video games for their SpeedZet Automobiles, the CEC !

Which of the following can be children after this promotion- has decided to quit. I believe
inferred from the given state- al campaign. the company will soon g0 1:110,
ment? 38. Statement : ‘We should export losses due to this declsion: "
(An tnference ts something which the surplus of wheat in order to statement by a market analyst
{s not directly stated but can be utilize its over-production this Which of the foﬂmvmsﬂa‘m:
Inferred from the given facts.) year’ appears to be the perception”

the market analyst ?

_— sl R—————amm S A W




1
:f No other person can run II. A major portion of magazines for
oo B, | [t Automobiles as suc- women also contains the ftems
| qu'* Y| cessfully as the present CEO. mentioned above,
\ %;"u, b4 t Automobiles may Conclusions :
b, @ decide to¢ shut down tl3e op- I. Women are perhaps not inter-
. i, erations duc to the CEO's exit. ested in other things. ,
W‘hq @ A"wcw try II. An average women's primary in-
t jts best to e ¢ CEO In terest lies in home and specially
‘11..%% order to maintain its market in the kitchen.
0 position. 8. Statement : | know nothing ex-
iuu’eeug';? (@) The sgfs'tegl? za;j:tpntedt bsl;itl}; cept the fact of my ignorance.
Ny %,: CEQ exclusive In the indus- Conclusions : I. The writer's
n were knowledge is very poor.
Y “1%' 5 iy Automobiles has the Il. The world of knowledge is too
%fy, A ’ ( pighest market share at vast to be explored by a single
aqtﬁ% pmscnt- person.
oLy (RBI Officer Grade ‘B’ Phase-I Directions (8-10) : Below is giv-
l Exam. 21.11.2018) | N a passage followed by several pos-
8 o sible inferences which can be drawn

form the facts stated in the passage.

You have to examine each inference

Dry, ¢
i E,NSURANCE EXAMS

d"ﬁ are followed by two conclusions.

wo (1) if conclusion I follows;
oy g‘;cmdusion 11 follows: (3) if both |
g ol follow; and (4) if neither I nor I
Tolg .

(1-5) : In each of the
ng questions, a statement or

{United India Insurance Co.
(AAO} Exam. 11.03.2007)

1, Statement : In deserts, camels
e, are indispensable for people to
wm,  travel from one place to another.
iy Conclusions :
I Camels are the only cheapest
, mode of transport available in
dis  deserts.
q [ There are plenty of camels In
w  deserts.
sk 2 Statement : Smoking is one of
those human weakness which
tends to test the willpower of the
smoker to the edge.
Conclusions :
L It is very difficult for the smok-
ers to give up smoking even if
r they want to do so.
, !, Human beings have other weak-
! nEsses as well,
$ 8tatement : OId order changes
the ylelding place to new.
Conclusions :
L Change is the law of nature.
old ideas because they

dy

are old,
N Statement ;

l
The TV Programmes telecast
iy for women, are packed

separately in the context of the pas-
sage and decide upon its degree of
truth or falsity.

(United India Insurance Co.
(AAO) Exam, 11.03.2007)

Mark answer (1) if inference 1s
‘definitely true’, i.e. it properly follows
from the statement of facts given.
Mark answer (2) if the inference
is ‘probably true’ though not ‘definite-
ly true’ in the light of the facts given.
Mark answer (3) if the ‘data are
inadequate’, i.e. from the facts given
you cannot say whether the inference
is likely to be true or false.
Mark answer (4) if the inference
is ‘probably false’, though not ‘definite-
ly false’ in the light of the facts given.
Mark answer (3) if the inference
is ‘definitely false’, l.e. it cannot pos-
sibly be drawn from the facts given
or it contradicts the given facts.
In the commodities business size
does matter. This is common wisdom.
The Indian sugar industry, the sec-
ond largest in the world after Brazil,
has traditionally been fragmented,
which led to widespread sickness and
large number of mills going bankrupt,
a situation exacerbated by a slew of

government controls - which are,
meaningfully, getting diluted since
August 1998, Its now been more than
seven and half years since the indus-
try was delicensed. No officlal per-
mission is required either to build a
new factory or for brown fleld expan-
sion plan, except that there must not

variety of reci
bousehoy hlnt)trs recipes and

S — .

be any violation of command area

LR S

F
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norms. Even then, there aren't many
who have the capacity to play the vol-
umes game at the cyclic sugar bual-
iy t been able to
not ye n
o ::2?11;)}1;3:& its ¥Irm stand in the
international sugar market.
At present the Indian sugar in-
dustry has been made consid-
erably free from Government
controls.
Prior to 1998, Indian sugar in-
dustry was considerably lower
in the world ranking of large na-
tions.
. Most of the bankrupt sugar mills
in India are funded by the Gov-
ernment to revive their units.
The Indian sugar industry has
comparatively smaller units in
comparison to other major sug-
ar producing nations.
Directions (11-18) : In ques-
tions given below, a statement is fol-
lowed by reasons I and I1. Apply the
reasons to the statement and mark
your answer as under :
(Oriental Insurance Company
Exam.08.04.2012)
{1) Only Iis right
{2} Only Il is right
(3) Both I and II are right
(4) Neither I nor II is right
Statement : The President some-
times pardons the victims who
have been destined to be sent
to gas chamber.
Reasons :
I. The President is more kind-
hearted than the judges.
II. The President is constantly
interfering with law.
Statement : After the bomb
blasts, the citizens of Mumbai
declared that they were not afraid
of terrorist activities.
Reasons :

I. They knew that all the per-.
sons involved in such dis-
graceful activity would be
caught by the police.

They are a brave lot and do
not believe in giving up or los-
ing confidence if anti-social
elements try to frighten them.
Statement : Volunteers often
offer their services for scientific
and medical experiments that
may prove harmful or even fa-
taL .

10.

11.

12.

I

13.

( BERE-735 F——————
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Reasons : 17. Read the following information 1. 15% of the total popyy & C"u‘
I. They do not give importance carefully and answer the ques- unfit. Aon 3 ﬂ“‘
to their life where advance- tion which follows IL. The fitness clubs o e
ment of sclence and hel “Pollution level has risen more thelr registrations fol'newh““ o
p fo (
humanity is con od than four times in matter of six bers this year. e
1 cernec. years in city A. In my opinion, if (1) Eitherlorllcanbe iy - f’“
I. They are confident that the all vehicles more than 20 years (2) Only 1l can be ing, Sy |
sclentists would somehow old still plylng on the road are land Werred, t
save them:. banned a major part of air pOllu: {3) Bothlandll canbe iy, :
14. Statement : Some species of ton in the SWWbe conirolled. £} ;ieri:?:r I nor 11 can y, |
bird extinc- — person ) . i
tion s are on the verge of ¢ Which of the following state- (5) Only 1 can be inferreq ‘
Reasons : ments most appropriately weak- { 39 gtatement: “I would like g | W
ns: ens the person’s opinion ? cel hotel booking for todday ¢
I. They are being constantly (1} More than 96% pollution in my flight to Delhi has beey, Ny 3
hunted, city A can be attributed to celled, thus 1 would be Can. ti p
i1. Pollution and destruction of e st o to reach your hotel in thy,, | i
forests have affected their vglfi;yﬂar nucleafplants and hours’ time", said Mr. Pa“dqh ‘ ;rb
breeding process. waste burning together. the hotel manager aver phop,. A
18. Statement : Pesticides are re- {2) Around a decade ago, the I. Thereisno ottl:u:rlfll'lian'nst_m.eatl,l f
sponsible for causing different government of city A had con- Delht other than flight. ¢
diseases in human belngs, be- verted all public transport 11. ‘There is no possibility Ofthefgg |
cause vehicles from diesel-run to to clear today.
CNG-run in order to control 1} Either!orlI can be inf
Reasons pollution levels, :2: Only II can be inferred, |
1. They contain some or the oth- {3) Older vehicles emit more pol- (3 Bothandll canbelng
er type of poison that kills lutants than the newer ones erred.
worms and pests but affects as the newer vehicles are (4) Neither I nor Il can be i
the plants adversely. provided “tghnewlﬁst carbon ferred. {
11. Poisons are harmful to hu- reduction technologies. (5) Only I can be inferred i
beings too (49) The number of vehicles. for Directions (20~22) : In each o
' private use as well as public | ¢he following questions, a statemen;

16. A tour and travel agency was transport use has not In- | g)5ed by two inferences numbersy
sued by three customers as it creased substantially in the | |\ 1t have been given. You havey;
had promissed a discount on the past six years in city A. consider the statement and the givey [~
holiday package but when exam- ® City B in ;hg ':f‘ghgm"‘"g inferences and decide which of the !
ined later, it was found that the state which had made simi- | ¢} oan he inferred and seled |
agency had actually charged 12 lar efforis had managed to the it .'

reduce pollution levels by appropriale answer. y
percent more than what other half within three years. (NIACL Administrative Offics
agencies were offering. (NIACL Administrative Officer (AQ) Online Exam, 11.01.201)
Which of the following is an in- (AO) Exam, 10.01.2018) | 20. Statement : Rahul read the book |

Directions (18-19) : In each of
the following questions, a statement
followed by two inferences numbered

written by Professor ‘X', The book
is easy to comprehend and un-
derstand the condition of poorin

ference which can be made from
the facts stated in the abovg

paragraph ? . ;
I and II have been given. You have to the Country ‘Z’ completely.
(1) Cheatingmay be a ground for | . s1der the statement and the given L A y P rely %
alin ‘ . i . According to Professor ‘X
g a case inferences and decide which of the fol Rahul now clearly under-
(2} It is not a grave crime to | lowing can be Inferred and select the stands the condition of poX
charge extra money for holi- | appropriate answer. in the Country ‘Z
day package. (NIACL Administrative Officer )
(AO} Exam, 10.01.2015) 1l. No other professor reads thit
(9 Different tour and travel agen- | 19§20 ment: During the past year book.
cles charge differently. nationwide membership in fit- (1} Eitherlor 1l canbe inferred
(4) It is not essential to offer what ness clubs has declined by about (2) Only II can be inferred.

fifteen percent, while sales of

Both [ and Il can be inferred
fast-food products widely known (3} Both land

(4) Neither | nor Il can be i

has been promised earlier.
(5) None of these

(LIC Assistant Administrative Officer tol ;comﬁf;goﬁatlhtg s’;ﬂ:l;g&_‘ ferred.
(AAO) Exam. 12.05.2013) cent. (5) Only I can be inferred

— I
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: ¢ e dead- erence 1 follows
Slagyre | # G0t atalling panic buttonin | @) Only Inerence i ollows SBI PO EXAMS |
I can Ni} 5:', pﬂb;";l:nc;?;éncy :: :;:: (2: ﬁ‘“"" Inference I or 1 follows am ‘
1 b, Oe 10812 2 tracker and find out the lows - ieTence Inor lifol- || 1) | 243} S} S X
n Q":mr:?“ ;:; ts of start and end respec. (5} Both the Inference  and It follow sy| em| 7®) 8O
or gy Oty mf{’:’w Government of Country % (OICL Spectalist OMcer (Pinaace) 9.5 | 10| @] 121 ;
e % \ L 9,‘_,,-;u;::;J;:;s:about the safety of Exam. 03.08.2018) 13.0) | 14.m| 218.00 18.(1) '.
cj N [N
nm!:rﬁrw ' , The public transport wil 1. == SHORT ANSWERS == || 17.) | 18] 193] 200}
g r%'lketu il stall the pa;‘;lc buxn. NATION 21.3) | 22.0| 281 24.(5) i
i ha, to‘luq\ " I or 1 can be inferred. ALISED BANKS 270l 28.@ _
ulg XYy g only I can be inferred. & IBPS PO/MT/S0O EXAMS 20.5) | 26.03) .
t0tg, .,,;: pott  and If can be (nferreg, - 2o | som| 3161 82
M, NI g;‘;’r‘f’ca'; be inforved T &:f: ::[“ 25} _40]|[ 335 | 3445 88460 38.0)
L
%Nhli ;&Mt : Tl:le translation of 9.(2) 10.2; 715 8.m a7.(1) | 38.01) 39.(1)| 40.(5)
ne‘nato f anand Rathore's book does not 11.(1) | 12.(1) 21.4)
uﬂu_ P%’ jeceive as many accolades as the 13.(5) { 14. 1) 15.(2) 16.5) 41.(4) 42.(3) 43.(1) o
mty"‘"ie | msz;;:tmatterurmmmos ;7'(3] 18] 19.5) | 209 5.1 | 46.2)| 47.(1] 48.8)
1 be U L ok has now become outdat. 2;::11 2| 239 | 2449 49,1 | so.m| suLE)| 828
ed. V| 263 27.2) | 283 855.4)| 56.9)
lnfenl:% " translation works 20.(1) | 30.(5) 31(1} 83.2) | 8409 “
 be are not liked by people and 33, 32.4)
g dhese are sold less than the | [—o0) | 940 360 | 3605 RBI GRADE-B/
b original book. 2 | 38.0)| 39.9) | 2045 NABARD GRADE-~A
[ened (1) Etther 1 or Il can be inferred. 41.(5) | 42.(3) 43.(1) | 44.(5) G
) Only I can be inferred. 48.(1) | 46.05 OFFICER EXAMS
Sl (g Neitherinor Il can be inferred. 2] S | 5249 15 | 2] sm| 4w
b 15 Only I can be inferred 53.0) | 54| 83.5) | seqm sol eol 7ol s@
[:'hha"* 29, This question consists of a state- 57.2) | s8] s9.0 | eoss) - -
% :f: ment anddtv:;o mfercbglces num- 6L |“e23)] 631} | ea02) 9.0 | 10.m] 11.3] 12.9
e e iy b Ben > o i[85 | -es]| 67.2) | o8 13.6) | 1409] s 16.00)
m ‘:;a“?d but can] bey in- | {690 | 70.0] 7Li5) | 72.(1) 17.2) | 18.45)| 19.5)| 20.1)
¢ Offy m the given facts. You 73.(3] .
i have to decide which of the given B | 74.5| 75.6)| 760)| |1 2105 [ 220| z8.9| 2.2
heba inferences loglcalbr follows from 7709 | 78.0] 79.5 8o41) 25.1) 26.(1) 27
g Ucgvenstatement and select the 81.(5) | 82.(1)] 83.(1) | 84.4) Bl 2683
e applopﬂatte mn g 85.3) | se.(n]| 87.5) ] s8() 29.4) | 30.2)) 31()| 32.5
it msmmach ools Ehat manbeey“;’bmwden" ts 89.(3) | 80.(5)| 91.5) | 92.4) 33.5) | 34.(5)| 35.4)] 986.4)
engage in bullying those who are 93.(1} | 94.02)| 98.(3) | 96.05) 375 | 38.42)| 99.5| 40.5)
; ﬂﬂmge tothem orvulner- | | 97.4) | 98.2)| e8.1) | 1003
5 peatedy. However, fesearch Bur;: 101.(5) |102.(2} | 103.(3) | 104.{4) INSURANCE EXAMS
: gests that, bullying behaviour re- 105.(1) |1 106.(2) ] 107.(1} | 108.{5)
) w:o::u in stud;nat: who are ;ertg 109.(1) [110.(3) | 111.(2) | 112.(3) L4 | 23] 30 42
nsellin compare ,
g:m who are only pmgi‘ed wor | | 1132 [114.3) ] 118.1) [ 118.(5) 52| em| 7m| s
e
sent for coun-
A . 1)| 128.(4
lling is more effective in | [T329.(2) [130.(4) | 131.(9)| 19244
:;odlfymg behaviour of students 21.3) | 22.5)| 28.2)
to punishment. 133.(2) | 134.(5) | 138.(4}| 136.(2}
T { BPRE-737
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1. {5} Inference is definitely false.
‘2. (1) Inference Is definitely true,
3. (5) Inference iIs definitely false,
4. (2 Inference is probability true.
8. (i)Ipference is definitely true.
6. (2)The inference seems to be
probably true. The last lne of
the somewhat supports
the inference. .. 5 ..
7. {5The inference is definitely
false. Consider the second lite
of t{:e S
8. (1} The inferérice i8+definitely
true. Consider the following line
of the passage. "
ETTTI i%.. India recorded a
sharp jump in itsrate of growth
after years of performance in
the recent yéars”,
9. (2) The line “This unfortunate
cycle lives of mi]-
lions: of poors and hapless”
‘points out that good monsoon
years are intercepted by bad
monsoon years. Therefore, in-
' ference seems;to be brobably
true. -

-----------------

ing. i1s showing a consistent
growth rate around ten per
cent.” - o

20. On the basis of information
g{*'en in the passage, the infer-
ence seems probably true.

21. (1) It is mentioned in the pas-
sage that the Indian sugar in-
dustry is the second largest in
the world after Brazil, but has
traditionally been fragmented. It

implies that the position of In-
dia in the international sugar

market is not firm and consoli-
dated. Therelore, the inference

is definitely true. .
22. (1) It is clear from the passage
that Indian sugar industry is
< now considerably free from Gov-
emment controls.
23, (3) The data are inadequate.
Z4. (3) The data are inadequate.
“28. (1) Inference is definitely true.
26. (3) The data are inadequate.
2% (2) The Inference is probabily
* true, -
» 28, {3) The data are inadequate,
29. (1) Inference is definitely true.
30. (5) The inference is definitely
. .false,
31 (1), Inference is definitely true.
32. {4) The inference is probably
false,
33. (2) The infernece is

-

Praobably

10. (3) Data are inadequate.
1L ()OnlyA .
12. (1) Only A
13. (5) No additiona] statement is
required to draw the conclusion
14. (1)Only A
+ 18, (2) Only B
18. (5) The inference Is..deﬂnitely
false. Consider the following line
of the :
Clearly services have been the
key driver in economic momen-
tum of the country.”

true.
34. (1) Inference is definitely true.
38. (3) The data are Inadequate,
38. (5) The inference is definitely
false,

37. (2) The inference probably true,
38. (1) Inference is definitely trye.,
39. (4) The inference is definitely
false, -~
40. (5) The Inference is defi

folen, nitely

41. (5} The inference |
o s definitely

17. (3) There is no Information in
the passage regarding this infer.

ence,
18. (1) Consider the following line
e :

of the

“The industrig) sector, which un-

42. (3) The data are inadequate,
43. (1} The inference ig deﬁnitely
true,

4. 5T
1[}‘i"ehe inference g definitely

45. (1) The inference Is definitely

e
48. (5) The Inference |
b € Is definitely

derwent 4 Phase of restructuyr- ‘

47. ) Th :
AT € inference ig Probably

......

The

th )

acres of valuaky, Ouawa' 68
d....”, Eoverng,,

88. (5) Consider the last i, o
] t
858. (3) The Contents of
do not make such atlrlsrljwle “
57. (2) The use oftt!rm‘a]l?rie::Ql
inference Mmakes it 4 &
Therefore, the inferencei
el

dﬂﬁlltd; 7]
:.nmttlalm the llghtoffactsm
€ Passage. Consider
lowing line of the -

88. (1) The inference i

89. (1) The second line of the pay
sage supports the inference.

60. (5) Consider the following I
of the e:

“It 1s neither feasible nor dest
able for the state to stem it
tide."

81. (1) Consider the second andik
third line of the passage. Frt 7,
these two lines, it Is clear thi
the Inference is true. 7

62. (3) There is no such comparist
in the passage.

83, (1) The inference fs deflnltt
true. Consider the last lined ¥
passage.

64. (2) From the first three “""ﬂ: "
the passage it is clear tha!
Inference is probably trué

7
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ing, is showing a consistent
growth rate around ten per

cent.”

NATIONALISED BANKS
& IBPS PO/MT/SO EXAMS

20. {2) On the basis of Information
given in the passage, the infer-
ence seems probably true.

the inference. . . o

-

-

of the passage

of the passage.

the recent yéars”.

cycle lives of

-----------------

true, .
10. (3) Data are inadequate.
1L (1}.0nly A -
12. (1) Only A

13. {5) No additional statement is
required to draw the conclusion

14. (1) Only A
. 18, (2) Only B

of the passage :

*“Clearly services have been the
key driver in economic momen-

tum of the country.”

17. {3} There Is no information in
the passage regarding this infer-
ence,

18. (1) Consider the following line

of the passage :
*GDP fs growing at about seven
per cent to eight per cent even
if there is a failure in monsoon”.
19. (5) Consider the following line
of the passage :
“The industrial sector, which un-
derwent a phase of restructur-

(3% 4

lions: of poors and hapless”
‘points out that good monscon
years are intercepted by bad
monsoon years. Therefore, In-
* ference seems:to be probably

18. (5) The inference is.definitely
false. Consider the following line

_1. (S}inference is definitely false.
‘2. (1)Inference is definitely true.
3. (Stinference is definitely false.
4. (2)Inference is probability true.
8. (I)Inference Is definitely true,
6. (2)The inference seems to be

probably true. The last line of

the passage somewhat supports

7. (5]'_1"!_113 inference is definitely
false, Consider the second lifie .

8. (1) The inferente i$-definitely
true. Consider the l'q!‘!_?wing line

........... *.{xi.. India recorded a
sharp jump in its rate of growth

after years of performance in

8. (2) The line *This unfortunate

21. (1) It is mentioned in the pas-
sage that the Indian sugar in-
dustry is the second largest in
the world after Brazil, but has
traditionally been fragmented. It
implies that the position of in-
dia in the international sugar
market is not firm and consoli-
dated. Therefore, the inference
is definitely true.

22, (1} 1t is clear from the passage
that Indian sugar industry is

¢ now considerably free from Gov-
ernment controls.
23. (3) The data are inadequate.
Z4. (3) The data are inadequate.
‘28. (1) Inference is definitely true.
26. (3) The data are inadequate.
22 (2) The inference is probabily

® true.

= 28. {3) The data are inadequate.
29. (1) ihference is definitely true.
30. (5) The inference is definitely
- false,

L% (1), Inference is definitely true.
32. (4) The inference is probably
false,

33. (2) The infernece is probably
true,

34. (1) Inference is definitely true.
35. (3) The data are inadequate.

36. (5) The inference is definitely
false.

37. (2) The inference probably true.
38. (1} Inference is definitely true,

39. (4} The inference is definitely
false, -~

40. (5) The inference is definitely
false.

41. (5 The inference is definitely
false,

42. (3) The data are inadequate.

43. (1) The inference is definitely
true

44. (5) The inference is definitely
false.

45. (1) The inference is definitely
true,

48. (5) The Inference {s definitely
false.

47. (2) The inference is probably

-
-/

0.
48. }:{a"l;he Inference 1s de“mlely ¢ ;':;: '
49. (1) The inference ia tu, g7
80. (1) The inference is definitely tr,,
B1. (1) Consider the following line o ¢

thepasaagc:‘&lumdweuman dja’
characterised by ......... Sugoep,
tions -

tible to poor health conditions, 0 T

82. (3) There 1s no information aheyy,  # 4
,‘the developed countries. o
83, (1) Consider the followmg line P,o"
of the passage : ) (

“Sium dwellers are characteriseg 25

.~ by low productivity....”.

Therefore, it can be assumeqy l;gﬂ
that the inference is true, e
B4. (2) Consider the following I,
of the passage : gl
“In its most ...... The program |, 5
could free up thousands of *of ‘
acres of valuable government .
land.....". gt
Thus, the inference is probably t
true. 0[
88. (5) Consider the last line of the P

passage. " [l

88. (3) The contents of the passage |” 4
do not make such a reference, d

87. {2) The use of term 'all' in the
inference makes it doubifu), |
Therefore, the inference is
‘Probably true’,

88. (1) The inference is definitely
true in the light of facts stated
in the passage. Consider the fol. |
lowing line of the passage.
“Rather, the state’s role should
be to modulate this enthusiasm
to maximize social welfare.”

50. (1) The second line of the pas-
sage supports the inference.

60. (5) Consider the following line
of the passage : -
“It is nelther feasible nor desir-
able for the state to stem the
tde.”

61. (1) Consider the second and the
third line of the passage. From 5
these two lines, it is clear that ;
the Inference is true. N

62. (3) There is no such comparison
in the passage.

63. (1) The inference is definitely
true. Consider the last line of the
passage.

64. (2) From the first three lines of |}
the passage it is clear that the
Inference is probably true.

=
L m pemm apm geie ey vy Oy

o
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l% The clear that a more transparent
’%Q’ P }:IJ“ i ::;uoneg In the pas- Euideline 1s needed. It does not
lhi .' ot that reso ) imply that there is no such
w"’g N Mmemmpaﬂm o oth- guideline.
h"b l’\ | il fueils. Therefore, it ts 76. (2) The of t . . )
!l% ¢! o gificult to assert that In- ooe only

dia? than its requirement,

coal reserves are much

it probably true. It 1s mentioned
in the passage that “Subse-
quently high and consistent eco-

of the
Ee‘ N ﬂ' “} memcg::::tl;t;lat the pGa;:;glf nomic 3 made South Ko-
M"lg ":z':};,as done very liitle to im- rea one of the high-income eco-
h"r ;-ow the quality of education. nomics in Asia”. -

\: JCans]dcr the third unlc of the 7. (3] me the facts gl\'en in the
' | ‘f, ‘2 e It indicates that fund paﬂsage it is not pDSslble to de-
%u PaOﬂe of factors for mprovmg termine the truth or ra.lSity of
e, t:;alll}' of education. Therefore, the inference.

ng Ehe inference s probably true as | 78 (1} Clearly, the inference is defi-

ME the inference mentions the term nitely true.

nﬁ% | oubstantially” 79. (5) The inference is definitely
gy 2 . (5) consider the very first line false. Consider the following
-n%: of the passage : lines of the passage :

.privatisation is no panacea
when it comes to education”,
it clearly indicates that quality
of education 1s not guaranteed
even in the private institutions.

{1) The theme of the passage in-

:ﬁ ﬁdlcates that the Inference is

b

ity

| definitely true. ,

ﬂ:}r m, (1) The last three line of the pas-
g SOC clearly indicate that the In-
" ference is definitely true.

g T {5} From the very first line of
q (hepassage it is clear that pri-
) vatisation of higher education
has already in vogue in India.
The passage deals with the
i rm of privatisation of higher
' aducation. Therefore, the infer-
ence is definitely false.
7. (1) The inference is definitely
true. Consider the following line
of the passage :
‘In India, there is no doubt that
private not-for profit universi-
ties need to be encouraged to
Increase education oppertuni-
ties”.
1. 13) The passage malkes no such
reference.

" (5 The inference is definitely
false. It 13 mentioned in the pas-
t3ge that privatisation and cor-
Poratisation are actually quite
different in the field of higher
education,

" 15 The use of term ‘any’ in the

trence indicates that the in-
frence s definitely false. From

“‘India on the other hand,
adopted an import substitution
policy since its Independence,
until the early 1990s. Since
.then India has introduced wide-
ranging economic policy reforms
and {s moving towards market
- driven economy. This has re-
sulted in consistent high eco-
-nomic growth over the last one-
and-a half decade.”
80. (1) The inference is definitely
true. Consider the following line
of the passage :
“Though the Asian growth sto-
ries mainly revolve around India
and China .......... *
81. (5) The last line of the passage
contradicts the inference.
82. (1) The inference is definitely
true. Consider the following line
of the passage :
“.eeenns It is imperative for an in-
vestor to define objective - both
returns and digestible risk

"
(LT L

83. (1) The theme of the passag
supports the inference. There-
fore, the Inference is definitely
true.

84. (4) The inference is probably
false. It is mentioned in the pas-
sage that choice in any decision
making is good in so far it pro-
vided variety, differentiation and
benchmarking it. It could also
however, at times lead to clut-
ter and noise if the options are

the last line of the passage it is

.

mostly similar and undifferenti-
ated. Therefore. the inference
seems to he false. .

in the pas-

3} The data pm»vided
s L;ge are not sufficlent to deter-

mine the truth or falsity of the
inference. ¢ the passag®
e contents of the

o gt]e:rhly indicate that the Infer-

ence is definitely true. " ‘pas
. It is mentioned in the -

o (ssa]ge that the number of credit
cards dipped to about two
crores as of end February 2010
from around 2.5 crores a year
ago. Thus, the drop percentage
is 20 per cent.

88, (1) Average monthly spend in the
Financial year 2010 fell to Rs.
5100 crores against Rs. 5,400
crores in the Financial Year
2009. Thus, the drop In the
term of expenditure is about six
per cent. But the drop in the
term of volume is about 10 per

cent.

- 80, (3) There is no such data in the

passage.

80. (5) The very first line of the pas-
sage clearly indicates that the
drop in the number of credit
card users was due to slack-
ness in economy. :

91. (5) The inference is definitely
false. An example cannot sup-
port the inference. :

92. {4) The inference seems to be
false as the use of term ‘'most’
makes the inference doubtful.
But the first para talks about the
same,

93. (1) Clerly, the inference is defi-
nitely true.

94. (2) The advice is ment for all
who are associated with busi-
ness. Therefore, the inference is
probably true.

95. (3) In the passage it is men-
tioned that the author saw the
film ‘The wizard Oz’ three times.
It does not imply that he
watches most movies more than
twice.

96. (5) It is mentioned in passage
that when you wish to shift from
BPLR to the base rate system
<eoess » This implies that all the
borrowers are not required to
shift from BPLR to the base
rate system.

BPRE-739 |
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probably false,

88. (2) The passage addresses the
customers of banks and the
borrowers are also bank's cus-
tomers. Therefore, the inference

is probably true,

98. (1) The content of passage clear-
ly indicates that general bor-

rowers are being addressed.

counterparts can also be benefl-
100. (3) The data given in the pas- cial to a certain extent.
Sage are not sufficient to deter- | 118, (1) Statement ()
mine the degree of truth and fal- 118. {5) Staternent (D)
sity of the inference.

101.(5) It is mentioned in the pas-
sage that 50 - 80 per cent of all
people who suffer a heart attack

are able to return to work.
Therefore, the inference s defl-
nitely false,

102.(2} It is mentioned in the pas-
sage that the persons who have
suffered a heart attack should
avold high pressure, stressful
work. Therefore, it may be con-
cluded that the inference is

probably true,
103. (3} There is no information about
this inference.
104. (4) The use of term ‘definitely’ in
the inference makes it doubtful.
Therefore, the inference s prob-
able false.
108. {1} Consider the very first line of
the passage. It 1s clear from the
first line of the passage that the
inference is definitely true.
1086. {2) Infrastructure plays an im-
portant role In economic devel-
opment. India is a developing
country. Therefore, the country
needs to make massive invest-
ments in infrastructural devel-
opment. Thus, the inference is
probably true.

)7.(1) The last line of the passage

supports the inference.

8.(5) Blotechnology is mentioned
as new economy sector in the
case of India. Therefore, the in-
ference s definitely false.

. (1) From facts stated in the pas-

sage, the inference seems to be
definitely true.

97. (4) It Is mentioned in the pas-
] sage that a written application

for the switch (from BPLR to the

base rate system) is required.
tions may be on plain
paper or in printed format,
Therefore, the inference is

124.(2) 1t is mentioned in the pas-

=] CONCLUSIONS/INFERENCES —

110. (3) There is no reference about
this inference in the passage.

111. (2) From the given information
it is clear that the school would
face a crunch in terms of avail-
ability of qualified teachers in
the years to come,

112. (3) It is mentioned that salaries
of malds have gone up only 50
Hmes while costs have gone up
100 times

113. (2} Statement (B) can be in-
ferred from the given statement.
114, (3) Statement (C) proves that in-
tervention from their urban

117. (4) The district authority sent a
police team to nab the culprits.
It shows that the Government is
committed to provide protection
to travellers across the country.
118. (3} There is a perception among
small brands that sale in a su-
permarket is higher than that of
small grocery stores. -

118. (5) The staternent clearly implies
that smaller brands are current-
ly making substantial losses in
their businesses. Consider the
term “troubled waters,”

120. (2) Statement (C} represents a
disadvantage of the small gro-
cery stores over the Supermar-
kets from the perspective of a
smaller brand. Smalt grocery
stores do not help in distribu-
tion of any brand.

121. (3) Statement (D) represents a
reason for the shift from local
grocery stores to supermarkets
by the smaller brands,

122. (1) Statement (A} will prove that
that step taken by the smaller
brands may not necessarily be
correct.

123.(5) It i1s mentioned in the pas-
sage that 50 - 80 per cent of all
people who suffer a heart attack
are able to return to work.
Therefore, the inference s defi-
nitely false.

sage that the persons who have
suffered a heart attack should
avold high pressure, stressful
work. Therefore, it may be con-
cluded that the inference is

e T

probably true.
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126. (3) There Is no info, 5
this inference. mumahu‘“— 1‘1‘; [H
128. (4) The use of term ‘definytey ‘Zi,e- O"‘l;
the inference makes f¢ doubtyy, },ﬂ"ﬂ
Therefore, the inference 1g Drolg \ 13
able false, : d“:;of‘c
127. (1) Consider the very first tng o, 9 P
the passage. It is clear f o "'d
. rom f !
first line of the passage that the W b
Inference is definitely trye, @8
128. {4} It is well known that humg, f‘ﬁﬂ‘w P
being §s mortal, rgol?
128. (2) Obviously, soclal entrepre,  of *: P
neurship is different from the guﬁu 0
business entrepreneurahip, “ul ‘ﬁs
130. (4) Only statement ] can be {p. \d“r e
ferred from the given informa. Thpef‘-
tlon. It 15 clearly mentioned thy, }ﬂeﬂ;wgl'
the process of acquiring visa i, @%
the tourist has been eased, il 11;11
131. (4) Only statement I can be 5. f’n st
ferred from the given Informg. “‘rpg-.rcl
tion. It is clearly mentioned that lﬁ‘The
the process of acquiring visa for ‘gou]d |
the tourist has been eased, ensy
132. (4) Obviously, option (4) mogt geuntt
appropriately proves that the dearly
decision taken by the aviation
minjster is unrealistic as the ex. g1l The
isting fleet is not being used for esten
lack of passengers. arge d!j
133, (2) It has been said that 23 - ﬁtm
micrograms level of hormone ‘X || The
needs immediate medical atten- ‘ o
tion, It means that cretosis dis- ugem
ease becomes intense at that level !‘RLN
of hormone X', &
It has been clearly mentioned inthe
that long term usage of antibiot- A{]) Re
les causes cretosis. Therefore, bt b
optien (2) may be concluded from e
the given information. 51t
134. (5) The performance of the em- ':: P
ployees of Company ‘K’ is linked Thea‘l’:
to the reward. If the performance e
of none of the employees has im- topy
proved, it implies that no employ- Uy
ee has been rewarded for his/ g
her work. Therefore, option (5) i}
Is the most appropriate. Yeag
138. (4) Obviously, option (4) can be g,
Inferred from the glven state- g,
ment. Htin
188, (2) Obviously, option (2) can be ?l}
inferred from the given informa- Q:h
tion, 'le;



e i Th tioned that after
. “?f’.‘-i i’ l%" Il ent o Holdays on
K payment (HIF) plans,
Ea?f‘hqe postal® fgtooo families in Mum-
agy ¢ % glone will opt for such de-
p g b bﬁed payment plans for their
,hlnl‘ 4 {:olldays in next three years ac-
W cording to an estimate. There-
e, 1t MY be concluded that
l enyy {hg new scheme is fulfilling the
Ui oped of peOPIE in Mumbal. How-
Jm’,;m e 7 may be that people could
cap P go out even If such plans were
Ay, o 8y announced. Therefore, mark
: inr%: | your answer “probably true”.
gyt g The data regarding the total
"EHQ "mcmbersh!p of HIP in India are
asey ¢ aot given In the passage.
L R 1 (1} The statement “...... while the
Ing, ¢ granaries overflow ...... grain
n % ,urplubcs o---u” CIearly ﬂupportg
G, (he given Inference.
>Vl 4 (1} The statement “This stock
.ﬁ should be more than sufficient
)n, (o ensure that country’s “food
hay ~ security” 18 not endangered ...."
g, clearly supports the given infer-
= ence.
|51E;: 8,(1} The statement “And this co-
extstence of grain surpluses with
farge scale hunger.....” shows
t 2. that distribution of foodgrains to
Ons the masses Is not proper.
aw  6.{1) The last sentence of the pas-
5 s sage conveys the same idea.
tee  7.(5 The use of term “always” in
* the inference makes it contradic-
tory to as what has been stated
™ inthe passage.
g (1) Refer to the sentence “.....
a but broadly one-third of India
i seems to remain underfed.”
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- inference is probably

9.(5) It is erroneous to infer that
the policy makers in India are
unaware of prevalent hunger.
The last sentence of the passage
indicates that there is need of
adopting a suitable policy.

10.(1} The inference scems to be
definitely true. It has been stat-
ed that XYZ Federation has en-
visaged Rs. 100 crore worth of
exports per year while the tar-
geted sales turnover has been
estimated at Rs. 10,000 crore
by the year 2005, Therefore it
s clear that more than 80 per
cent product of XYZ will be
used for domestic market,

—] CONCLUSIONS/INFERENCES |

11. {2) Considering the first two
paragraphs of the passage it
seems that the inference is
probably true.

12. (1) The last paragraph indicates
that by 2003 India will be larg-
est player in milk industry.

18. (1) From the facts given in the
passage it is clear that the infer-
ence s true,

14. (1) The second paragraph of the
passage clearly ind!cates that
mere manpower will be required
to implement or execute the
strategy as envisaged by the XYZ
Federation

18. (1) Only conclusion I seems to
be reasonable. Considering the
different nature of IT Companles
different parameters should be
employed for ratings. It Is not
necessary that if separate rating
agency s established for IT Co-
mapnies the investors will get
protection of their investment.
Therefore, conclusion Il does not
follow,

16. {1) By increasing the manufac-
turing capacity the Company “Y"
would compete reasonably on
the cost front. And, as such it
can improve the quality of its
products, Hence, conclusion [
follows, Conclusion Il seems to
be an assumption.

17. {2) Considering the amount of
loss incurred by Public Sector
Units it seems to be true that
‘the Government did not take
care in the matter of investment
in the Public Sector Units. The
use of term “only” in the conclu-
ston ] makes it invalid.

18. (2) Clearly, only conclusion 1l fol-
lows. It is not clear how the pop-
ulation of developing countries
will not increase In the future.

18, (3) It is mentioned in the state-
ment that Mr. X has been de-
clared successful in the prelim-
inary screening for the post of
Director of KLM Institute. There-
fore, either he will be selected
or will not be selected as Direc-
tor of KLM Institute.

20. (1) The inference seems to be
definitely true. Consider the fol-
lowing line of the passage :
“Industrial and vehicular pollu-
tions are rapidly across

21. (3) The passage only deals with
the pollution level in the Indian

context.
22. (1) It is clear from the 1ast line
of the passage that proper plan-

ning and discipline in the use
leads to less

modern technology

pollution.
23, {1} Consider the following lines

of the passage.

pollution 1s growing faster than
economy. This 18 because the
western technological model,
bullt on heavy use of energy
and materials, 1s inherently high-
1y _toxic model. It produces
huge amounts of toxic pollut-

ants...." .
24. (5) From the facts given in the

passage it ia wrong to assume
that the smaller industrial units
contribute proportionately high-

er pollution.

28, (5) It is clearly mentioned that
the decreased volume of exports
during 2001-2002 1s not the
main reason for the percentage
growth in exports during 2002-
2003, ,

28, (3) Such comparison is not made
in the passage.

27.{1) The inference 18 definitely
true. Refer to the last line of the
passage.

28. (4) The inference 18 probably
false. Refter to the passage.

20, (5) The inference is definitely
false. Refer to the passage.

30. (5) Consider the following line of
the passage :

“However, agriculture and allied
actlvities account for less than
even one-fourth of the total
GDP".

Therefore, the inference 1s defi-
nitely false.

31, (5) It is mentioned in the pas-
sage that the structure of
industrili-sation has changed
over the years and not over the
past few decades.

82, (1) The inference is definitely
true.

33. (5) Consider the following line of

the passage :
“So it Is less likely that aggregate
economic growth will be ad-
versely affected if rainfall is
scanty”.

the country”

F
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34.(5) It is mentioned in the pas-
sage that the component of the
manufacturing sector that de-
pends on agriculiure for the sup-
Ply of Intermediates is not very
high. This does not imply that
manufacturing sector is indepen-

dent of agricultural sector.

38. (5) It is not fudicious to regard
asbestos industry as one of the
largest industries in India con-
sidering the number of employ-

ees engaged in this industry and

also the number of units of this
industry in India.

38. (5) It is sald that asbestos indus-
tries in India are located in sev-

eral states.

37. (1) Advanced countries are ban-
ning cancer causing asbestos
products : it implies that ad-
vanced countries are concerned
and careful to protect health haz-
ards of their people.

88. {1} It can be safely assumed that
if the industry is growing in In-
dia, there certainly exists de-
mand for its products.
39. (1) Consider the statement,
e indifference of government
machinery....... "
40. [5) Both the conclusions logical-
ly follows from the information
given in the statement. The term
milk glut clearly indicates that

the milk production of State ‘X

is more than its requirement.

Again, it Is clearly mentioned

that the Government and co-op-

crative dajries in State ‘X failed

to use the available milk—it im-

plies that such dairfes in State

‘X are not equipped properly.

41. (4) Neither conclusion I nor con-
clusion II follows. The subsidy
on any item cannot be 100 per
cent. It is mentioned In the state-
ment the Government has decid-
ed to withdraw 33 per cent of
“the subsidy” on cooking gas and

not 33 per cent of the actual
price of the cooking gas. There-

| CONCLUSIONS/INFERENCES |

42. {3) From Lhe stalementl il is clear
that the Government will eliher
increase the price of diesel or
will not increase the price of die-
sel. The deficit on this count can
be adjusted by some other
means. Therefore, after the re-
view of the present policy of the
diesel price in view of further
spurt in the internationat oil pric-
es, the Government is lefl with
only two optlons- to increase or
not to increase the price of die-
sel. Therefore, either conclusion
I or conclusicn 11 follows.

43, (4) Neither of the conclusions

follows. It is clear from the state-
ment that the City ‘Z' requires
beautification but this does not
imply that the people of that city
are unaware about the state of
ugliness of their city. Therefore,
conclusion I does not follow. The
new Municipal Commissioner as-
serted that the task of beautifi-
cation of City *Z' could also be
accomplished if such has hap-
pened In City ‘X’ and City *Y".
From this it cannot be derived
that the Municipal Commission-
er has served in City ‘X and City
'Y.While asserting something one
may quote the works of another
persen. Hence, conclusion IT is
also not valid,

44. (4} Neither conclusion I nor con-
clusion Il follows. In the ab-
sence of harsh punitive mea-
sures the cases of sexual ha-
rassment may take place any-
where. Therefore, it is erroneous
10 assume that sexual harass-
ment of women at work place is
more prevalent in India as com-
pared to other developed coun-
tries. The statement exhorts that
amendment in the Act is meant
to curb sexual harassment at
the work place and it cannot be
taken as the imposition of re-
striction on recruitment of wom-
en. In order to avoid pain in

arms we cannot chop our arms.

45. (1) From the first two lnes of the

passage. i is clear that (, In
ference is definitely trye.

48. {2} The use of term “alwayy in
the Inference shows that the |y,
ference Is probably true,

47. (1) The Inference is deﬂnuely
true. Consider the following |,
ol the passage :

"Excessively low interest py

skew the risk reward equatjq,
by making projects that are 5.
tually not viable. appear viabje -

48, (5) The Inference is defingtely

false. Consider the following lipe
of the passage :
"It is now well established (hy;
long periods of unduly low inter.
est rates encourage banks (g
take meore risks.”

49. (1} The Inference is definitely

true.

(30-54) :

Candidate Conditions ]
{i) ] tii) |Giv) or (a} | liv) | tvlor (b}

Amup /| /] - Y] -

Nisha S % - [ -

Subodh v | v |v - |/ | -

Ravindra v | v | ¥ - | /1=

Rajiv 'S NArs - |V ¥ | ~

50. {1) Anup Bhaimagar satisfies con-
ditions (i), {ii), {a}, (iv) and (v).
Therefore, his case would be re-
ferred to the Dean of the Insti-
tution,

81. {5} In case of Nisha Desai there
is no information ahout the con-
dition (Li).

52. {3) Subodh Verma satisfies con-
ditions (i), (ii), {iii), {iv) and (v).
Therefore, he can be selected.

53. (2) Ravindra Sharma satisfies
condilions (i), (if), (iii), {iv) and
(b). Therefore, his case would
be referred to the Director of
the Institution.

84. {3) Rajiv Batra salisfies all the

- conditions (i), {ii), (iii), (iv) and (v).
Therefore, he can be selected.

55. {4) Option {4) is true.

58. (3) Option (3) is true.

fore, it is erroneous to assume
that the price of the cooking gas

RBI GRADE-B/NABARD GRADE-A OFFICER EXAMS

will increase at least by 33 per
cent. Any policy of the Govern-
ment affects all sections of the
Society and it cannot be as-
sumed that poor people do not
need subsidy. Thus, neither of

L. (5) According to passage, the
inference is difinitely false.

2.(5) According to passage, the
inference js difinitely false.

3. (1} According to passage, the

the conclusions follows.

Inference is difinitely true.

4. (1} According to passage, the

Inference is difinitely true.

5. (3) According to passage, data
are inadequate,

6. (1) According to passage, the
inference is difinitely true.
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-ylm!lh Wrdmg to passage, data | o4 @

N WY inadequate. According to Passage. the
'S 1y, ot | cording to passage, the 28, ¢ is probably true

5 A%7e is probably false. eascording to passage, the

; rding tot ep;ﬁge, the 26. (1) 3¢ ) Is difinitely true. .

a2 e is difink €. 9 clear from the passag

“‘{T;ordlﬂg to passage, the India has failed to take me

10',‘:} e Is difinitely true. Sures to recharge groundwater

»
false
geloped

ahility and acceptance.

wigelty, [, i Esosion ST Auge quantity of

n dioxide is not a

1 hat new technologles are
developed

lectricity. >
l“cu it is clear from the

dioxide.
the passage :

Green Revolution strategy,”

true :

true.

“Inference is difinitely false.

the :
‘But with the food surpluses the
+* Sifuation has ed”,

%.{)) Consider the following line of
the passage

It meant farmers were being led

0 produce crops based just on

the prices Government fixed and

mﬁ relation to any real de-

& According to passage, the

2 €rence is difinitely false.
) According to passage, the
8.0 A

Crence is difinitely true.
- erence ts difinitely false.

16. (1} Consider the following line of
“The Government is planning to
focus on investment in irrigation-

_ and even revival of agricultural

extension system what is prob-
ably needed is a fresh dose of

Hence, inference is definitely

17.(2) From the passage it seems
that the inference is probably

18.(9) According to.passage, the

18.{5) Consider the following line of

ls-fﬁhé inference is deﬁnltely
f

‘;jls;-om‘thc passage it Is clear

-

that the developing countries are
tying to evolve new technologies
to reduce the emission of carbon

The inference is definitely
Any new technology is de-
od keeping in view itg vj.

ter for being developed coun.

to reduce emission of
dioxide from automobiles
and during the production of

LA L FV LT Wt/l I s I

ad
me'-lua‘tcly In northern part.

erefore, the inference is defl-
*

tensive crop, .
28. (3) There is ﬁo data about the
;:'E;r level in other parts of
29, f(_;ll}s::he Inference seems to be
* 80. (2} It can stated that the infer-
ence is probably true on the ba-
8is facts mentioned in the pas-
‘sage, '
81. (4) None of the
implicit.,
32, (5) Both the assumptions are im-
plicit in the statement.
33. {5) Both the assumptions are im-
plicit in the statement. .
34. (5) Both the assumptions are im-
- plicit in the statement.
38. (4) None of the assumptions is
Implicit in the statement.
36. (4) It is clear from the statement
. that the school in Regari is not
at a walkable distance from the
37. (5) Clearly, both the expecta-
tions are implicit I the state-
ment, - '
38. (2) Only expectation II is implicit
in the statement.
39. (5) Clearly, statements (B), (C)
and (D) support the theory pro-
pounded by Expert B,
40. (4) Obviously, option (4) is the
most appropriate answer.

assumptions is

INSURANCE EXAMS

1. (4) The legs of camels are so

cording to passage, the
\

1) Only Conclusion | follows-
s g::rcry yolcl order does not
become obsolete in due course.
4.2 It 1s clear that only
Conclusion Il follows.
B. (2) Only Conclusion 11 follows.
6. (1) According to passage
inference is definitely true.
7.(1) According to passage.
inference is definitely true.
8. {3) According to passage, the
data are Inadequate.
8. (3) Accordfng to passage, the
data are inadequate.
10. (1) According to passage.
inference is definitely true.
4) None of the 'réasons is cor-
!'e]ct. Judge -delivers verdict as
per the rule. Tl}r. President has
the power to pardon such per-
sons who have béen awarded
death sentences. This does not:
imply that the President is more
kind-hearted than the judges.

11.

‘12, (3) Both the reasons are correct.

13. (1) Only the reason I is correct.

i4. 2) Only the reason Il is correct.

18. (3) Both the reasons are correct.

16. (1) Clearly, option (1) may be in-
ferred. .

17. (1) It has been said that vehi-

. cles are major pollutants but the
Option (1) discards this notion
outrightly. o

18. (4) Clearly, neither 1 nor II can

. be inferred. The membership of
+ the fitness club cannot be equat-
ed with population.

19. (4) Obviously, neither I nor II
can be inferred. Mr. Pandey
wanted to cancel hotel booking
as his flight to Delhi was can-
celled and -he was unable to’
reach hotel in three hours. It
does not imply that there is no
other means-to reach Delhi oth-
er than flight.

20. (5) Only Inference 1 can be in-
ferred from the facts given. in
the question. A book written by
some famous writer is read by

some other professors too.
;ﬁgtgﬂﬁajwfg ‘fl‘i‘}‘l‘er‘z?sly 21. (3) Clearly, both the inferences
camels are indispensable for 22 ?;]egl to t:e nrappropriate.
peaple to travel from one place s nly Inference I can be in-
to another. Therefore, no con- ferred from the statement.
clusions follows. The use of | 23. (2) Only Inference 1 follows. It
term ‘only’ in the first Conclu- is clearly mentioned that bully-
sfon makes ft invalid. ing behaviour reduces in students
2.(3) It is clear that both the _Whoaresegt for:_pounsell!ng.
.conclusions follow. . aoo
(rODDOe 40 hrmmrre—a
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MODEL EXERCISES

Directions (1-3) : In each of these
questions, there is a statement followed
by three conclusions. State whether
the conclusions are implicit in the given
statement.

L The classic My Fair Lady was

based on the play Pygmalion by
G. B. Shaw.

. My Fair Lady was the screen
adaptation of the play.
II. G.B.Shawwasa playwright.

I11. My Fair Lady tells the story of
Liza Doolittle and Henry

Higgins
(1) Only I is implicit
{2} Only 11 is implicit
(3) I and HI are implicit
(4) None is implicit
(8) All of these
2. The Unit Trust of India {UTY) in-
formed SEBI that it would now
have to cut the interest rates in

I.  Assured return is a contradic-
tion as far as UTI is con-
cerned,

1. Investors would feel cheated
ifthat happens

IiL. SEBI is a regulatory body
(1) Only1is implicit

{2) Only Il is implicit

(3) Iand Il are implicit

{4) None is implicit

(5) Al of these

3. A casual look through the news
letters of different mutual funds
{MFs) would make one feel that
MFs are chock a block full of cash.

L. Adeeperlook would reveal that
it is not so,

II. MFs are full of cash,

HI. There are more than one Mu-
tual Funds today.

(1) Only I is implicit
(2) Only I is implicit
(3} Only 1! is tmplicit
(4} None is tmplicit
(5) All of these

Directions (4-8) : Two statements
are given followed by two conclusions
I & II. Take the statement to be true
and then decide which of the conclu-
sions logically follows, Mark your an-
swer as :

(1) If only conclusion I follows

(2) If only conclusion 1! follows

(3) If either conclusion I or Ii fol-
lows and

{4) If neither conclusion I nor II
follows

(5) None of these

4. Statement : Of the ten fisher-

aged to return to the shore.
Praveen has not yet returned af-
ter four days.

Conclusions ;

I. Praveen got killed in the
storm.

II. Praveen has survived in the
storm.

8. Statement : Now you don’t need
an import licence to own a VCR.

Conclusions :

I. VCRs are now manufactured
indigenously.

II. VCRs are now freely permit-
ted to be imported.

6. Statement : Just about everyone
in Germany has been on a diet at
one time or the other and millions
of them have learned that the
weighi they lose is all too easily
regained. Still despite their frus-
tration, few question the wisdom
of deiting.

Conclusions ;

I. Germans should stop dieting.

I. Germans do not learn from ex-
perience.

7. Statement : A study of planning
commission reveals boom in rey-
enues. However, this has been of
little avail owing to soaring expen-
diture. In the event, there has
been a high dose of deficit financ-
ing, leading to marked rise in
prices. Large financial outlays

year after year had little impact

e 00

on level of living,

r- raTawliwdll o .

men caught in a storm, nine man- .

Conclusions :

I. A boom in revenues leads ¢,
rise in prices.

H. Large financial outlays shouly
be avoided.

8. Statement : The average nyy, !
ber of students per teacher ;s ¢
50 in the urban area whereag It /.IJ
is 60 in rural areas. The Rationg Iy
average is 55, *f,-
Conclusions : 1
I. The student teacher ratio in

the rural areas is higher thay
in the urban areas.

II. More students study with the
same teacher in the rural ar.
eas as compared to thosge in
the urban areas,

Directions (8-12) : In each of

these questions, a statement is given
followed by two conclusions 1 and |
Mark your answer as
(1) If only conclusion I follows
(2) If oniy conclusion I follows
(3) If neither I nor 11 follows
(4) If both I & 1I follow.
(5) None of these

9. Statement : Sealed tenders are
invited from competent contrac-

tors experienced in executing con-

struction jobs.
Conclusions :

I. Tenders are invited only from
the experienced contractors.
II. Itisdifficult to find competent
tenders in construction Jobs,
10. Statement : The distance of 900
Km by road between Bombay and
Jafra will be reduced to 280 km
by sea. This will lead to a saving
of ¥ 7.92 crore per annum on fuel.

Conclusions :

I. Transportation by sea is

cheaper than that by road.

II. Fuel must be saved to the

greatest extent.

11. Statement : The manager humili-
ated Sachin in the presence of his

colleagues.
Conclusions :

I. The manager did not like

Sachin,

II. Sachin was not popular with

his colleagues,

R Y _LW.T W



. ‘ﬂngnt £ Any young man wha
I 1 9:“,3 dowry as a condition for
N || ) l’:ﬂnﬁge discredits himself and
nhea onours womanhood.
! dish .
0 %'1! conclusions : ‘
QUQ}, ] Those who take dowry in mar-
s I rages should be condemned
iverag! ah“q, by the society.
e tog My | g1, Those who do not take dowry
Ruptigh| [ ariages espect womanihood

"

g

N ections (13-17): Each of these
h%%t._ quﬁmnshasa““’r"““cedm‘mom
o
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he passage given below. Mark youyr

r as
”’nﬂﬁ] if the inference is ‘definitely
true’

uh"f @2 if the ‘data provided are inad-

e “"thut equate’
lo I:WQ ' @ If the Inference is ‘probably
s § true’

n (4) if the inference is ‘definitely

ey false ‘

s [ (5} None of these

gy Paseage

o, Ministry of Environment and for-

Lolip, «sis has granted environmental clear-

_r ancelo the Karakatla open-cast expar-

Owg sion project of the central coal Fields
yd. in Bihar that envisages exploita-
tion of nen-coking coal reserves, the

Tery u t production level of 0.8 million

ONlyy,  fonnes is proposed to be expanded to

Ngey 15 million tonnes per annum at an

ig:‘" jivities is about 651 hectares which
;m includes about one-sixth of it as forest
land.
s 13. The expansion plan would require
fa about 100 hectares of forest land.
;ﬁ 14. Karakatla open-cast mine is the
. only one of non-coking coal in the
g country.
18. There is no demand for non-cok-
ing coal.
16. The production cost of one tonne
of non-coking coal from Karakatla
mine will be about ¥ 450.

estimated cost of ¥ 67. 82 crore un-
der the project. The total land area re-

quirement for the proposed mining ac-

17. Environmental concern gets less
priority over the need of the coal.
Directions (18-21) : In each of

the questions below there is an infer-

ece, which is based on the given pas-

%age. Examine each inference sepa-

filely in the context of the passage and

" € upon its degree, of truth or fal-
by. Mark your answer as

these questions, certain statements are

given followed by two conclusions num-
bered I and I1. Consider the statements
to be true even if they seem to be at
variance from commonly known facts.
Decide which one of the conclusions
logically follows from the statements.

Mark answer as

[
— concwsrousnnssaeuces i

(1) iIf you think the inf
'deﬁnjtcly tgae' erence is

(@) if you think the inference is
‘probably true' though not defi-
nitely true in the light of the
facts given

{3) if you think the ‘data is inad-
¢quate’ ie., from the facts
given, you cannot say whether
the inference is likely tobe true
or false

() if you think the inference s
defh'lite]yﬁa]se'
{5) None of these

The reforms are atmed at having
an impact over a wide cross-section of
the economy. With improvements and
greater efficiency in mobilising and al-
‘l:t:)cl:Taletlng resources, the basis will be-

stronger for promoting economic
growth and deveIOpmentt:mTiere forms
aim at increasing efficiency of the §-
nanctal sector and the range of finan-
cial services available within the
ggrt:lm introduction of bank
¢y and accounting stan-

dards, together with mlprov?rfent in
the regulation and supervision of finan-
cial institutions and capital market, is
aimed at installing greater public con-
fidence, ensuring safety and soundness
of the financial system, bringing about
greater transparency and accountabil-
ity in operations and encouraging over-
all increased resources, mobilisation
within the economy.
18. Prior to reforms, the banking sec-
tor was running inefficiently al-
though resource allocation was ef-
ficient.

19. Bank capital adequacy was not in
operation before reforms.

20. Public confidence has some con-
nection with resource

~ mobilisation.
21. The economic reforms have aimed
only at the flnancial sector.

Directions (22-28) : In each of

(1) if conclusion I and II follow

22. Gtatement Industrial cities are

(3) if only conclusion | follows

{4} 1f neither conclusion | nor 1n _.
follows ".

(5) None of these |

highly polluted. Pollution means ]
more diseases,
Conclusions
in cities which are

- mm are . healthier

than those who live in indus-

trial cities.
II. People who live in industrial

cities become immune to dis-

eases

29, Statement My brother sings very

well. My sister 1s a basketball
player. I am very intelligent. Con-
clusions

1. We all are very talented.

II. We all are sportsmen.

24. Statement India’s economy de-

pends mainly on forests.

Conclusions

1. Tree should be preserved to
improve Indian Economy.

I1. India wants only maintenance
of forests to improve economic
conditions.

28. Statement The best way to es-

cape from 2 problem is to solve

it.

Conclusions

I. Your life will be dull if you
don't face problem.

IL. To escape from problem, you
should always have some so-
lutions with you.

Directions (26-30) : Below is a

given a passage followed by several

possible inferences which can be
drawn from the facts stated in the pas-
sage. You have to examine each infer-
ence separately in the context of the
passage and decide upon its degree of
truth or falsify. Mark answer as

{2) if only conclusion I follow

R__

(1) if the inference is ‘difinitely
true’, ie, properly follows from
the statement of facts given

{2) if the inference is ‘probably
false’, though not ‘definitely
false’ in the light of the facts
given

(3) if the ‘data is inadequate’, e,
from the facts given you can-

not say whether the inference
is likely to be true or false
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{4) If the inference is ‘definitely I. Workers should be motivated Conclusions :
false’, le, it cannot possibly be to produce more. 1. People are indiffereny to
drawn from the facts given or Ii. Workers should be allowed to sonal liberty and the “&p:"
It contradicts the given facte participate in the management dissent. o
(5) None of these of companies. ' II. People desire persong) libe
Passage 32. Statement : Power consumption and the right to dissen_
India’s economic and social In every family has been doubled | g7 geatement s The use of non,..
progress is forever undermined by con- during the last five years. ventional sources of energy
o stant onslaught of drought followed by Conclusions : eliminate the energy crisig In thy
K devastating floods. There s no deny- L. ‘There is a lot of development world.
. ing that the country has registered in the soclety. Conclusions :
i 3 | growth in putting water to productive Ii. Power rates have become I. Modem technology s grady
a4 | uses : for irrjgation to realize the ob- cheaper. . allyreplacing the eonvemhmi ‘
i;'f r ! Jectives of food security, of water con- | 33, Statement ; This world is neither source of energy.

] servation for crops requiring a consid- good nor evil; each man manu- '

! erable amount of water or even under- factures a world for himself, 1. The m?;:;::ﬂg‘::u‘m of
ground water for industrial and agri- Conclusions : tion of conventional so“mmdepk‘
cultural purposes. Despite this, the I. Some people find this world - tonalco : of
demand for water is visibly more than quite good. energy.
the supply of available and sustainable 1. Some le find this world Directions (38-42) : The ques.
water. This is because water resources : quite bl;zlo P tions glven below have a statement f,).

are not tntegrated in a systematic way ' ) lowed by two conclusions Iand 11, p,.

to provide for varied uses. th mm‘::’“ (34';? #In f‘;‘d}ocl’f cide which of the conclusions foliowy

28T el th o b o man | 102, 30000, @ satemrt s | o ek snw
age water resources by integrated sider the statement to be true even if (1) if neither conclusion | follows
method. it seems to be at variance from com- nor II follows
27. Unavailability of sufficient water monly known facts. Decide which of {2} if conclusion I follows
lha:: !md an adverse effect on the given conclusions is/are definitely (3) if conclusion 1 follows
ndia s economic progress, drawn from the given statement. Mark {4) if both conclusions | ang I
28. India does not lack in the supply | answer us follow
of substainable water for various (1) if only conclusion I follows
pu &) ifon} clust ol (5) None of these
Tposes. only conclusion II follows 38. Statement :

29. India has achieved the maximum (3) if neither conclusion I nor IT opinion that g.lh ; doctor‘is of the
level possible in the channelling follows pon that the patient's cong;-
of its water resources. (4) ifboth conclustons I and I fol- U opne Decome normal afir

30. The trend of conservation of wa- Tow this operation
ter in India is a recent one. (5) None of these Conclusions : ,

Directions (31-33) : In each of 34, Statement : Biack 1. The patient’s condition is such
' : cloud f;
the following questions, a statement is thunder: rains follow :l:lun;grm ' that he can be operated upon,
given, followed by two conclusions | Conclusions ; IL. Certain costly medicines can
and II. Consider the statement and the ) be administered to the patient
foll L. Thunder is the cause of rain, pa
ollowing conclusions. Decide which of and the operation may not be
the conclusions follows from the state- II. Black cloud is the cause of |. necessary,
ment. Mark answer as thunder, 39. Statement : |J
(1) If neith 33. Statement : The secret of sye. ) at : Unemployment allow-
nelinter conclusion 1 nor JI Suc
foll cess is constancy of purpose ance should be given to all unem-
ows Conclusions : o Played Indian youth, above 18 yr
() if only conclusion It follows ns : of age,
{3) if only conclusion | follows L C;nstant dripping wears the Conclusiong :
(4) 1f both conclusions | and stone. ‘ )
ol i I Single-minded devotion is nec. I+ There Tonen rge number o
unem
(5) None of these 36. cosary for achieving success. . India 5%%21?5:@2
81. Statement : Workers feel highly Statement : Today, out of the ~ sistance
tiv. world population of several thou- )

motvated when they get a sense ou I The G h

of involy sand million, the majority of men . overnment of India has

ement by participating in

the management of compan; have to live under government sufficient funds to provide un-

Conclusions : Panies- which refuse them personal Jib- employment allowance to all

erty and the right to dissent. the unemployed young people.
- —.r.-nD'Dn Y T -
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tions given below have a statement fol-
Jowed by two conclusions | and .
pecide which of the conclusions fol-
lows from the statement. Mark answer

as

{1} if conclusjon I follows.

YLV LIV

FRLALA LS LS TV 5T WY

sragement : 11 Mr Bhattacharya

: e A" thanegh fﬂe nstpuctions,

e can starl perlorming the ac-
tivities.

conclusions :

1. Mr. Bhattacharya shall under-

stand the instructions,

1. Mr. Bhattacharyais capable of

performing the activities,

41, Statement : Krishna wrote an.

other letter lo his mother afier one

month as he didn't receive any

reply to his first letter.

Concluatons ;

J. !rishna’'s mother didn't recetve

the first letter.

il. The letter normally reaches

within a week.

42. Statement : Gaurav has got the

railway resetvation done in Janu-

ary this year for the journey he

wants to make in April to Calcutta,

Conclusions :

I. The ratlways issue reservation

3 months in advance.

II. There is more than one train

to Calcutta every day,

Directions (43-47) : The ques-

43. Statement : Recent irends also

{2} if conclusion 11 follows

(3) if both conclusions follow
{4) if neither conclusion follows,
(5} None of these

indicate that the number of child
migrants in large cities Is increas-
ing. These children leave their
families to join the ranks of ur-
ban poor doing odd jobs in mar-
kets, workshops, hotels or in ser-

vice sectors.

Conclusions :

L. Migration to big cities should
be checked.

Il. The plight of poor children
should be thoroughly studied.

4. Statement ; The TV programmes,

telecast specially for women are
Packed with a variety of recipes
and household hints. A major por-
ton of magazines for women also

contains the items mentioned
above,

e

F LT LI
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Conclusions :

I. Women ure not tterested in
other things,

1. An average woman's pri
Interest lies in home al;dn;:z
clally in the kitchen.

48. Statement i Although, the edu-
cation system has progressed
from the point of view of the num-
ber of schools, most of them are
llll-::qulpped and have not
achieved excellence in im
education, pariing
Conclusions ;

I. In future, we should provide
good teachers and ., equip-
ment to these schools,

. We need not Open any more
schools in the future.,

46. Statement : Nation X faced grow-
ing internatjonal oppositon for its
decision to explode eight nuclear
weapons at its test slte.
Conclusions ;

I. The citizens of the nation
favoured the decision,

Il. Some powerful countries do
not want other nations to be-
come as powerful as they are,

]

47. Statement : Modern man influ-

ences his destiny by the choice
he makes unlike in the past.

Conclusions :
1. Earlier. there were less options
available to man,
II. There was no desire In the
past to influence the destiny.
Directions (48-52) : These ques-

Lions have a statement followed by two
conclusions I and II. Decide which of
the conclusions follows from the state-
ment. Mark answer as

(1) if conclusion I follows

(2) il neither conclusion I follows
nor 1l follows

(3) if conclusion II follows

{4} if both conclusfons I and Il
follow

(5) None of these

48, Statement : There has been an

unprecedented increase in the
prices of essential commodities
like vegetables, pulses, fruits,
sugar, milk, wheat, etc and in-
crease in the prices of diesel and
petrol has further aggravated the
situation this year.

Conclusions ¢

f. Thesupply and demand must
match and government must
arrest the hoarders and
middlemen who are creating
an artificlal scarcity of these
essential items,

If. The ftems in ehort supply can
be imported and thelr Indig-
enous production be in-
creased.

49, Statement : The Reserve Bank

of India has, on 20.3.2010,

increased the Repo Rate by

25 basis polnts to 50.

Coneclusions :

I. This will surely anchor infla-
ton.

1. The banks will now raise the
lending and deposit rates.

80, Statement : Our parllamentary

system is not very successful

because most of our countrymen
cast their votes based on caste

and religion.

Conclusions :

. Only educated and principled
persons should be given the
right to vote.

II. We need to create an aware-
ness in our people to rise
above caste and religion at the
time of casting their vote.

51. Statement : Against the backdrop

of surging inflation, the Union

Cabinet in March 2010 has de-

cided to increase the Dearness Al-

lowance for Central Government

employees and pensioners by 8%

with effect from January 2010.

Conclusions : '

I. This will provide some relief
to the Central Government
employees and pensioners
against the surging inflation.

Il. Increase in Dearness Allow-
ance will neutralize, to some
extent, increase in the cost of

living.

§2. Statement : Some people in this

country want the President to be

more than a flgurechead and to

take more active interest in na-
tional politics.

Conclusions :.

1. Inaparliamentary democracy,
the President has to be con-
tent with a more or less pas-
sive role.
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II. The President, under the
provisfens of the Constitu-
ton, is bound by the advice
of the Councll of Ministers
and so, he or she should not
come into conflict with the
Ministry or Parllament.

Directions (83-87) : The ques-
tions given below has a statement fol-
lowed by two conclusions I and II. Con-
sider the statement and the following
conclusions. Decide which of the con-
clustons follows from the statement,

Mark answer as

{1) if conclusion I follows
(2) if conclusfons I follows
{3} i neither conclusion I follows
nor I follows
{4) if both conclusionI and i fol-

low
(5} None of these
83, Butemeatuthasbecnrcported
by one of the TV channels that
the answer scripts of board ex-
arnination of one state have been
evaluated by students studying in
the samne standard with the help
of model answers provided by the
paper-setters.
Conclusions ;
1. All such officials/evaluators
who have been a part of this
malpractice should be sari-
ously dealt with,
I. Theboard should explore the
possibilities of getting these
answer books evaluated by
computerized machines,
U4. Statement : Many of those who
study In premier engineering,
medical and management insti-
tutes in Indla, migrate to devel-
oped countries for better pros-
pects in their professional pur-
sults, after they complete their
study.,

—| CONCLUSIONS/INFERENCES |

86. Statement : The weather depart-

57. Statement : The brave and alert

II. All those students who desire
to settle down in the devel-
oped nations of the world
should be asked to pay the
entlre cost of their education
which the government has
subsidized for them.

85, Statement : There has been a sig-
nificant drop in the water level of
all the water-bodies supplying wa-
ter to the metro city of Mumbal.
Conclusions :

I. The water supply authority
should continue to impose a
partial cut in water supply to
the consumers till the situa-
tion eases out.

I. The government shouid appeal
to all the residents through
mass media for the mintmal
use of water.

ment has forecast a that

a strong cyclonic storm will hit

coastal Andhra Pradesh and

Orissa in the next 48 hours.

Conclusions ;

I. The local administration
should soon send a message
that all fishermen of that area
avoid going deeper into the
sea,

II. Local administration should
alert the people of coastal ar-
eas of both the states to move
to safer places and admints-
trative machinery should get

ready for meeting out this
eventuality,

villagers of Kandlj village in

Madhya Pradesh caught a group

of dreaded dacoits armed with

very sophisticated weapons and
handed them over to the police,
ne !

I. The villagers of Kandii village
be provided sophisticated
Weapons to repeat this type of
act of bravery in futyre,

ll. The villagers shoulg be

) rewareded for their
Condusfons : and unity, courage
L. All the students Joining these Directions (58-60) : Each of these
colleges shouid be asked to | questions has a statement followed by
sign a bond at the time ofad- | two conclusions | and II. Consider the
mission, to the effect that they | statement and the following conclu-
will remain in Inda, at jeast | Sl0ns. Decide which of the conclusions
for ten years, after th ey com- [ follows from the statement. Mark an-

plete their education. I swer as
— BPRE-748 )-

B8. Statoment : India has

——
{1} if conclusion1 follows
(2} If conclusion It follows :
(3) if nelther coneluaion fol
{4) if both conclusiona follow
(3) None of these

ST TN

Ereatp, 7

tential for consumer Producty_

Conclusions :

1. Infladon is curbing d'm'land
for consumer products,

I Avery large population ofyy,
country has a great appeti,
for consumer producta,

89, Statement ; Introduction of com,.
puters and networking hag re,
olutionized banking serviceg
Conclusions:

1. Computers have reduceq pa.
perwork to a very large o,
- tent.

I1. All banking functions can be
operated and viewed caslly |
on computers.

60. Statement : Productivity of Ip,.
dian agriculture is very low, Con.

Indian agriculture is larg

dependent on timely raina,

II. Indian farmers have not n.
troduced latest technology
into the system,

61. Study the following information

carefully to answer the given
question :
A new apparel store has been
opened by a telecom com
XYZ, from which customers have
very high expectations.
Which of the following state-
ments can be inferred from the
glven statement? (An inference
is something by which you can
logically deduce something tobe
true based on known

/given pre-
mises.)
1) Xyz Previously operated in
telecom industry only.
Expansion is the best strate-
&y to have competitive edge
in the market.
To be successful in an ex-
Pansion, one needs to be a
leader in telecom industry.
XYZ has already established
brand name in the market
through its telecom business.
XY2's apparel store offers
premium products for young-
sters only,
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1. (1} The statement speaks about
the play and writer and not about

s by the story of the play.
2, {4) On the basts of the statement,
A we can not conclude anything as

e given in the three conclusions.
tale Hence, none follows.

nge 3 (3) The use of the word “different
o0 mutual funds’ clarifies the exist-

1ol ence of more than one mutual
ol funds today.
p  4.(3) Either conclusion I or II fol-
lows since there is one of the two
b possibilities can be possible either
Praveen got killed in the storm
it and not come back or Praveen
ig has survived but he is not getting
any route to come back.
8 {2)Statement implies that VCR can
i be imported but no tax is appli-
cable, it does not mean that VCR
are manufactured in the country.
€.14) Both the conclusions are in-
valid in the light of the statement
given,

7-(4) None of the conclusions fol-

8. (2) From the glven figures, it is
easily concluded that more stu-
dents study with the same
teacher in the rural areas as com-
pared to those in the urban ar-
eas..

8. (1) Clearly, conclusion 1 can be
drawn from the statement.

10. (3) Comparative cost of transpor-
tation is not given, hence conclu-
sion 1 is not implicit, conclusion
Il is a fact but not related with
statement. Hence none of the con-
clusions follows.

11. (1) The manager disliking led to
humiliation of Sachin. Hence, I fol-
lows. Nothing has been given
about the popularity of Sachin.
hence, 11 does not follow.

12. (2) We can easily conclude from
the statement that those who do
not take dowry in marriages re-
spect womanhood. |

13. (1} In the last line of the passage,
it Is very clearly given that forest
land requirement is about one-
sixth of 651 hectares area.

14. (2) No information is given to con-
firm that karakatla open cast mine
is the only one of non-coking coal
in the country.

18. (4) Inference is definitely false,

16. (1) It is given in the passage that
production cost of 1.5 million
tonne per annum is ¥ 67.82
crore. It means the production
cost of one tonne of non-coking
coal will be ¥450. ,

17. (3) The inference is probably true

18. (2) With improvements and greater
efficlency... implies that the state-
ment is probably true.

19. (1) The introduction of ... implies
that the inference is definitely
true.

20. (2) The passage voucher for in-

stalling greater public confidence

through Increased resources
mobilisation. Therefore, the given
inference is probably true.

(4) In the first sentence of the

passage, is mention of reforms

heing aimed at having an impact
over a wide of cross-section of the
economy. Therefore, the inference
is definitely false.

21.
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22. (3) It cannot be concluded that
people living in industrial cities
become immune to disease. How-
ever, It can be concluded that
people living in non-industrial cit-
les are comparatively healthy.

23. (4) None follows.

24. (3} Conclusion I goes with the
statement. The use of the word
only makes the conclusion doubt-
ful.

28. (2) it cannot be definitely said that
life will be dull or not dull if you
don't face problem. However, if
we face a problem, in order to €s-
cape from it, we should have so-
lution for it.

2@, (1) This is a very much clear from
the last line of passage.

27. (3) Data is not adequate.

28, (2) Probably false.

20. (1) It is given in the para that In-
dia had done everything to
channelise its water resources,
though not systematic.

80. {3) Nothing is given about its be-
ing old or new.

31. (2) Conclusion Il follows because
for motivating workers, they
should be allowed to participate
in the management of companies.

Conclusion I does not follow
because it is not given that moti-
vated workers produce more,

a2, (1) Neither conclusion I nor I fol-
lows because they are not directly

linked with the statement.

33. (4) Both the conclusions follow be-
cause some people find this world
quite good while some find it quite
bad.

4. (1) Conclusion I follows because
rains follow thunder so, thunder
Is the cause of rain.

Conclusion Il does not follow
because thunder is the cause of
black cloud.

3B. {4) Both the conclusions follow
because consistency s required
for achieving success.

36. (2) Conclusion Il follows because
people desire personal liberty and
the right to dissent.

Conclusion I does not follow
hecause people are not different
to personal liberty and the right

lows,
r x-__

to dissent.
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42. {3) Conclusion I follows because

43. (2) Conclusion II follows because

44. (2} If TV programmes magazines

" tains a variety of recipes and

48. (1) Conclusion I follows because

-)’UV
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87. (1) Conclusion I follows because
modern technology is gradually re-
placing the conventional source of
energy.

Conclusion II does not follow
because the given statemnent is
not telling about environment.

38. (3) Concluslon I follows because
according to doctor. patient’s con-
dition is such, that it needs op-
eration. Conclusion Il is not di-
rectly linked with the statement.

30. (1} Unemployed young people
need cither a job or some mon-
ctary assistance, So, conclusion
I follows. Conclusion II Is not di-
rectly linked with statement.

40. {4) Both the conclusions follow be-
cause after understanding the in-
structions Mr Bhattacharya per-
forms the activities because he is
capable to do so.
41. {3) Conclusion [ follows because
Krishna's mother might not re-
ceived the letter.
Conclusion I1 does not follow
because {f a letter normaily
reaches within a week then
Krishna wrote another letter af-

" ter one week.

Gaurav booked the ticket three
months in advance.

Conclusion ]I is not directly
linked with the statement.

it should be thoroughly studied

that why poor children are migrat-
ing in larger cities,

that are mainly for women con-

household hints then it can be
concluded that an average
woman's primary interest lies in
household things. So, conclusion
1 follows.

49. {3)Conclusion I follows because

BO. (3)As it is a fundamental right of

51. (4) As inflation is rising so increas-

52. (2) None of the conclusion is di-

83. (1) Only conclusion I follows be-

these new schools need good
teachers and equipments to Im-.
prove education system. Conclu-
sion Il does not follow because to
Improve education system, we
need to open schools but fully

equipped.

B4. {4) Both conclusions I and II fol-

48. (4) Nuclear weapons are danger-
ous (0 humanity. So, a nation ex-
cept those who already have
nuclear weapons should not test
for a nuclear weapons. A country
fs said to be powerful when its
citizens are happy and satisfied
fe, developed countries.
So,conclusion II does not follow.
Conclusion I is not directly linked
with the statement.

47. (1) Conclusion I follows because
mordern man has more options
than ancient man.

Conclusion 11 does not follow
because man has always desire
for some thing,

48, {2)In the statement, itis not given
that prices are rising because of

lesser supply but both the con- |

clusions are telling about only
demand and supply.

after increasing repo rate, banks
will increase their lending and de-
posit rates.

an adult citizen to cast his vote
so conclusion 1 does not follow.
Conclusion Il follows because
people should cast their vote to
the most eligible candidate.

ing dearness allowance will pro-
vide some relief to the central gov-
ernment employees and pension-
ers and it will neutralize to some
extent, increase in the cost of liv-
ing. So, both the conclusions fol-
low.

rectly linked with the statement.
So, neither conclusion I follows
nor I follows.

cause it is a very serious matter
and strict action should be taken
against all such officials/evalua-
tors.
Conclusions II does not linked
with statement,

low because India is a developing
country and government has sub-
sidized fees in these institutes so,
that students of these institutes
made India a developed country.

56, (2}Conclusion I follows,

57. (2)Conclusion [ follows becﬂuge \
)

——
———

. {4)Both conclusions | and

low because a parilal cyq o, (O
affect the consumers m"m
sumers should minimise (1,
of water tlll the altuatign

Ung
out. Cag,

AN

'e;‘:ﬁ

tration should be ready g5
damage by cyclone "ahm_{l(;'h‘"1
lesser. Fishermen of thq b
should avoid Zoing Into the
The word ‘deeper’ makes con:f:‘
sion 1 meaningless, )

T

¢

b
a2

villagers should be rewardeg for
their courage and unity bl-ltthq &
should not be allowed 1o take Ly, p"’*.

in their hand. fog L

. (2) Only Conclusion Il follow, ﬁ_i' ii‘

large number of people j ¢
strfmg urge for the consu:;: f# [
products. Therefore, India has ;“‘.
great potential for consumer Prog.

ucts. }"H

89. (1) Only Conclusion | follows, 1,

troduction of computers in b,

ing sector has revolutionised th, ¥
banking services. Several ney p4
services have been launched by g

the banks. ¢
The use of term ‘all’ in the Cop. oF
clusion Il makes it invalid.

60. (4} Low productivity is an outcome ¥

of several factors, viz., lack ofir. |
rigation facility, improper size of i
heldings, good seeds, proper ma.

nure etc. Therefore, both the Con. ¢
clusions follow. i

81. {4} Obviously, option {4) can be g

Inferred from the given statement, |
Famous brand name findsiteas ,
ler to launch a variety of prod-
ucts. .
|:m1
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